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Thursday, June 12, 2008

--- Upon commencing at 9:35 a.m.


MR. KAISER:  Please be seated.  Mr. Penny.

Preliminary Matters:


MR. PENNY:  Thank you, Mr. Chairman.  Just before beginning the day's work, I wanted to say for the record that we have provided a number of answers to undertakings today.


The undertaking J1.3 addendum, we put the wrong date on it, didn't update for today.  So that should read the 12th, not the 11th, but that is a follow-on to a question that Mr. Rupert had asked about precedents for both the so-called streaming concept of attaching cost to particular assets and also the treatment of nuclear liabilities in the US.  And so that is our response to that sort of follow-up question.  Then there is 8.4, 8.5, 8.11, 8.12 and 8.13 -- or 14, excuse me.


With that, it was our intention to start the capital  -- the cost of capital section of the hearing with Ms. McShane.  So she is here, and I think we're ready to go, if she can come forward and be sworn.


MR. KAISER:  Thank you.

ONTARIO POWER GENERATION - PANEL 10 - COST OF CAPITAL


Kathleen McShane, Sworn
Examination-in-chief by Mr. Penny:


MR. PENNY:  Thank you.  Now, Ms. McShane, you're the president and the senior consultant with Foster Associates Inc.?


MS. McSHANE:  I am.


MR. PENNY:  You have been employed there since 1981?


MS. McSHANE:  I have.


MR. PENNY:  You have an MBA in finance from the University of Florida?


MS. McSHANE:  I do.


MR. PENNY:  And you have an MA and a BA from the University of Rhode Island?


MS. McSHANE:  I do.


MR. PENNY:  You also have the certified FA designation?


MS. McSHANE:  Chartered financial analyst, yes.


MR. PENNY:  And you have held that since 1989?


MS. McSHANE:  Yes.


MR. PENNY:  As I understand it, you have taught both undergraduate and graduate classes in finance management?


MS. McSHANE:  Yes, I did as a teaching assistant.


MR. PENNY:  You have assisted in the preparation of a finance management textbook?


MS. McSHANE:  I did.


MR. PENNY:  And in your role as the -- as a senior consultant with Foster Associates, you have worked in the  -- principally in the areas of financial analysis, energy economics and cost allocation?


MS. McSHANE:  Correct.


MR. PENNY:  You have presented testimony in more than 150 proceedings on rate of return and capital structure before federal, state, provincial and territorial regulatory boards?


MS. McSHANE:  Yes.  I think actually it's about 190 now.


MR. PENNY:  About 190 now.


And that was on behalf of both US and Canadian telephone companies, gas pipelines and distributors, and electric utilities?


MS. McSHANE:  Correct.


MR. PENNY:  And the testimony that you have provided in those 190 proceedings or appearances has included the impact of business risk factors on capital structure and equity returns?


MS. McSHANE:  Yes.


MR. PENNY:  You have also testified on various rate-making issues, including deferral accounts, rate stabilization mechanisms, excess earnings accounts, cash working capital and rate base issues?


MS. McSHANE:  Correct.


MR. PENNY:  I understand that you have, in addition to that, provided consulting services for numerous US and Canadian companies on financial and regulatory issues, including financing dividend policy, corporate structure, cost of capital and stand-alone debt, income tax allowances, and the treatment of intercorporate financial transactions?


MS. McSHANE:  Correct.


MR. PENNY:  You were the principal author of a study on the applicability of alternate incentive regulation proposals to Canadian gas pipelines?


MS. McSHANE:  Yes.


MR. PENNY:  You have been instrumental in the design and preparation of a study of the profitability of 25 major US gas pipelines in which you developed estimates of rate base, capital structure, profit margins, unit cost of providing services and various measures of return on equity?


MS. McSHANE:  Yes.


MR. PENNY:  Now, Mr. Chairman, I know Ms. McShane is well-known to the Board and has been accepted as an expert in rate of return and capital structure dozens of times before this Board previously, so in order to get to it, I would ask that Ms. McShane be accepted as an expert in rate of return and capital structure in this case.


MR. KAISER:  Any objections?  No objections, so she is an expert.


MR. PENNY:  Thank you.  Ms. McShane, the prefiled evidence of Foster Associates is designated C1, tab 1, schedule 1 in this case was prepared by you or under your supervision?


MS. McSHANE:  Yes, it was.


MR. PENNY:  The interrogatory responses relating to that evidence likewise were prepared by you or under your supervision?


MS. McSHANE:  Yes, they were.


MR. PENNY:  Do you adopt that evidence?


MS. McSHANE:  I do.


MR. PENNY:  Now, your evidence is clear and lucid, said so I won't ask you to summarize what you have already said, but there have been a number of developments since your evidence was filed, and so I will ask you about some of those.


Let me start with something that we handed out this morning, which people will not have had the opportunity to read yet, but there is a portion of Exhibit J1.3 which deals with the treatment of nuclear waste liabilities in the US by US generation companies.


There is an attachment to J1.3 which I understand comes from you?


MS. McSHANE:  Yes.


MR. PENNY:  Can you explain for us your understanding of US practice, and then deal with its applicability to the Canadian circumstance, if there is any?


MS. McSHANE:  My review of the treatment of nuclear liabilities in the US found that regulatory treatment continues to follow practices that had been in place prior to the 2003 adoption of FASB 143.  FASB 143 is virtually the same as CICA 3110 in Canada, which required companies to estimate the fair value of their asset retirement obligations, record them as a liability and add the associated retirement costs to the original cost of their assets.


Prior to the adoption of FASB 143, utilities followed one of two approaches to recover their decommissioning liabilities.  Either they would include them as part of decommissioning expense, and, in fact, it changed the depreciation rate, if you will, and recovered those liabilities as part of depreciation expense.


So at the end of the life of the asset, what you would have is a negative asset value.


The second approach was that the utilities would recognize a liability as they collected the decommissioning costs in their cost of service, so the liability was accrued over time.


In both cases there was a reduction in rate base.  In the one case, the accrued liability was deducted from rate base, and, in the other, the rate base was reduced by the accumulated depreciation.


When FASB 143 was adopted, basically regulators stayed with the same approach for regulatory purposes that they'd followed in the past, and to the extent that there were differences between what utilities had already recovered under the old approach and what they should have recovered under FASB 143, they recognized regulatory assets and liabilities.


So when I looked at these approaches, I felt that we had to look at this in the context of OPG and how it might be comparable or different to US utilities.


In my view, the situation of OPG is quite different and it warrants a different approach.  First of all, the regulation essentially requires that the OEB accept the asset values of OPG as of the most recently audited statements, which means that their asset retirement costs are going to be in rate base.  Thus the point of departure is different from those of US utilities, which started this process many, many years ago and retain the same approach.

The second difference is that US utilities are typically regulated on the basis of their actual capital structure, whereas in the case of OPG it will be, as I expect, regulated on the basis of a hypothetical or deemed capital structure.

As a result, when the deemed capital structure is developed, you can take into account, in the proposed capital structure -- and this has been done -- the effect of including the asset retirement costs in the rate base.

I would also point out that another difference between OPG and US utilities is the size, the relative size of the liabilities.  They're materially larger for OPG and that, I think, needs to be recognized in the capital structure.

Third, whereas in the US there has been a general tracking of the recovery of the decommissioned expense and the contributions to funds to support the actual decommissioning activity, that hasn't been the case with OPG.

Effectively, much of the funding has come in advance of recovery from ratepayers and, therefore, investor funds have been required for contributions for which there is an opportunity cost.

So I look at this from that perspective and consider that there are a couple of methodologies we can look at, that look at the issue from a capital recovery perspective and the treatment of the unfunded liability.

There were three methods outlined in this attachment to J1.3 addendum.  And on page 7 of 8 of the addendum there is a table, and the table shows option 2, which is from CIBC, which has been discussed previously in this proceeding, followed by the rate base method, which is what's being proposed here, and a third method, which has been referred to as method number 3, for lack of a more creative title.

The rate base method and the third method basically use a deemed capital structure.  The main difference between the second method and the third method is that in the third method you would include the unfunded liability in the capital structure as a specific source of debt financing, whereas in the rate base method there is the deemed equity ratio and the allocated actual and proposed debt and a deemed debt component.

So the major difference between the two is that the rate base approach basically follows the approach to deemed capital structures that has been followed in Ontario, and method 3 substitutes the unfunded liability for part of the debt component.

In my view, option 2 would be the preferred method.  It follows the approach that the Board has taken in the past with respect to the other utilities in the province, and what I would call the approach of not tracing financing costs, but method 3 would also be a reasonable alternative.

MR. PENNY:  So could I just clarify?  Which was the -- on your table at page 7, your preferred method is what?

MS. McSHANE:  The rate base method.

MR. PENNY:  The rate base method.  Thank you.  

Then moving on to perhaps a different topic.  In Volume 7 of the transcript, there was a discussion between Mr. Rupert on the Board Panel and OPG's witness panel 8 with respect to the treatment of the Bruce assets for purposes of establishing what OPG's costs are in that regard.

Part of that turned on an interpretation of the regulation, so I won't ask you to comment on that, but I will ask you to comment specifically on the question of whether it is appropriate to attribute financing costs, in your view, to the Bruce assets, including a cost of equity.

MS. McSHANE:  Well, the Bruce assets are owned by OPG.  They would have had to have been financed by OPG, and would do so with a combination of debt and equity.

So the debt and equity each have a cost associated with them.  The debt would have an associated interest expense, as do the prescribed assets.

The equity also has a cost associated with it.  That's an opportunity cost.  The opportunity cost has been -- that's associated with equity has been well recognized by this Board with respect to regulated assets.  It would equally apply to unregulated assets or operations.

In this particular case, OPG is proposing to use as the cost of those assets the same cost of capital that it is applying for the prescribed assets.  It makes sense to me that it would be appropriate to use that same cost of capital, inasmuch as it does represent the opportunity cost to OPG, that is if it still had the Bruce assets or if it had the Bruce assets in rate base, that would be the return it would expect to earn on them.

MR. PENNY:  Thank you.

Then turning to your evidence, specifically, and the timing between now and when you filed that, in Exhibit N1-1, OPG -- that was filed at the outset of this case --provided an impact statement which included a brief description of the results of an update to your analysis that you did from, I gather, which you concluded that the fair return on equity for the April 1, 2008 to December 31, 2009 period net remained unchanged at 10.5 percent.

Would you please explain why you updated and what you -- or what was involved in your considerations for updating and what your conclusions were as a result of that?

MS. McSHANE:  Well, the reason I updated was because the evidence had been originally prepared in August 2007.  So a fair amount of time had passed in the interim, and I thought it was appropriate, and so did OPG, to determine if there had been any major changes that would warrant a change in the requested cost of capital.

So for the purpose of updating, I looked at the various tests that I typically utilize.  The first thing I did was to look at the forecast of long-term Canada bond yields.  In the initial evidence, I had estimated that for the test period, the cost would be 5 percent.  And when I updated, I had reference to the April 2008 consensus forecast, which indicated that the 10-year Canada bond was expected to be 3.6 percent and 3.9 percent in July 2008 and April 2009, respectively.


Also, for the first month of the test year -- or the test period, I should say, April 2008 -- the 10- and 30-year Canada bonds had averaged 3.6 and 4.1 percent, respectively.


So based on the actual yields in April, the consensus for July 2008 and April 2009, I estimated that the ten-year Canada bond yield would be 3.7 for April to December 2008.  And during April 2008, the spread between 10- and 30-year Canada bonds was approximately 50 basis points, which would lead to a forecast 30-year Canada bond yield of 4.2 percent for April to December 2008.


Now, consensus forecasts, which this Board has relied on for purposes of its automatic adjustment formula, doesn't provide a forecast for all of 2009.  However, the April 2008 consensus forecast does provide a long-term forecast; that is, it looks at what it expects 10-year bonds to yield from 2010 forward for approximately 15 years.


When we look at what the consensus forecast was anticipating for 2010, it was anticipating 5 percent.  So that means that there was an expectation that 10-year bond yields would be rising throughout 2009 in order to get to 5 percent in 2010.


In the absence of having specific forecasts throughout 2009 or specific consensus forecasts throughout 2009 for Canada, I did have reference to forecasts for the United States, which are available on a consensus basis and do provide values for each quarter through 2009.


The reason that I thought that the US forecasts were relevant is because, if you look at consensus forecasts, it expects US and Canadian rates to track very closely with the result that in 2010 there is a -- 10-year Canada bonds are expected to exceed US treasury notes by about ten basis points.


So on the basis of the US financial forecasts, which showed that interest rates -- 10-year interest rates were expected to go up by about ten basis points per quarter, a similar pattern in 10-year Canada yields would get us to a government of Canada bond yield of about 4.2 percent during 2009.  


So that's a 10-year bond yield, with 50 basis point spread, would yield a forecast for 2009 of 4.7 percent, and when you put the 4.7 percent together with the 4.2 percent for 2008, the average yield over the test period would be approximately 4-1/2 percent, and that is a very long story to get to one number and I apologize for that.


With respect to the equity risk premium tests, I did update all of the historical values.  None of those updates made any change in the historic numbers, so I make no change in the equity market risk premium under the -- what I refer to as the risk adjusted market equity return approach.


I didn't make any adjustment to the risk premium under the historic utility risk premium approach.  I did update the DCF-based risk premium test, and for two reasons the equity risk premiums are higher.


One is because interest rates are lower or government interest rates are lower, so the lower interest rate is partially offset by a higher risk premium, because there is an inverse relationship between interest rates and risk premiums.


There is also a somewhat higher risk premium because the spread between long-term A-rated utility bonds and government bond yields has increased.  So, as a result, the DCF-based risk premium test indicates a risk premium at a 4-1/2 percent yield of about 4.9 to 5.2 percent.


The three equity risk premiums together indicate that the benchmark utility risk premium is approximately 4-1/2 to 5-1/4 percent, midpoint of 4.875, and that would lead to an indicated equity risk premium cost of equity of 9 to 9.75, and then we would add flotation costs to that or financing flexibility adjustment of 50 basis points.  


The indicated return for the test period is approximately 9.875, and that compares to 9.75 to 10.75 in the initial evidence.


I also updated the DCF test.  I used the daily prices during April 2008 and IBES forecasts for the same month.  The resulting DCF cost for the benchmark sample of low risk utilities is in the range of 9-1/2 to 10 percent.  That's slightly higher than the initial estimates of 9-1/4 to 9-1/2 percent in the prefiled evidence; and inclusive of a 50 basis point adjustment for financing flexibility, the updated DCF cost is 10 to 10-1/2 percent.  The comparable earnings test remains unchanged.


There were not results for 2007 available when I updated, so the value for that test remains at 12.25, and the test in the aggregate result in no change to the return on equity.  It is still at 10-1/2 percent.


MR. PENNY:  Thank you.  Then since filing your evidence, intervenors have also filed some evidence on capital structure and cost of capital.


I don't want to go through a detailed line-by-line rebuttal, but perhaps we can deal with this at a high -- or at a general level, and then with a couple of specifics.


So why don't we start with this?  The intervenor witnesses on capital structure and ROE have made recommendations with regard to capital structure that suggests that OPG faces minimally higher risks than other regulated companies.  


Do you agree with their assessment, and, if not, why not?


MS. McSHANE:  No.  My view, there has been an underestimate in -- a significant underestimate in the level of risk that OPG faces relative to other utilities.


First of all, OPG has no low-risk monopoly, wires or pipes, assets.  Monopoly, wires and pipes assets are assets for which the probability of duplication is virtually nil.


The existing nuclear plants are subject to significantly higher operating and production risks than other types of generation.


The long-term risks associated with nuclear liabilities are higher, obviously, for utilities who have no nuclear exposure.  They're higher than for utilities who have lesser nuclear exposure, and they're higher than utilities -- nuclear utilities for whom a part of the liability is actually borne by the government, in the US, by the utilities paying a fee.


The regulatory risks, I believe, are higher for OPG than other Canadian utilities, primarily because OPG's prescribed assets are being regulated within the context of a hybrid market and the model essentially remains untested.

In my opinion, those risks have not been fully reflected in the recommendations of Doctors Kryzanowski and Roberts or Dr. Booth, and I don't believe have been fully appreciated by London Economics.

MR. PENNY:  Thank you.  Then dealing with maybe a couple of specifics, Dr. Kryzanowski and Roberts take issue with your conclusion that an A rating is an appropriate objective for OPG and conclude, in their view, that a number of Canadian utilities are able to function with ratings in the BBB category.  How do you respond to that?

MS. McSHANE:  Well, first of all, I think you have to take a look at the actual ratings of the universe of utilities in Canada, and you will find that an A rating is the rule, and a BBB rating is the exception.

Second of all, I think you have to realize how small the BBB market is in Canada.  I took a look, for example, at all of the issues of corporate debt that were done between 2006 and, I think it was May 2008.  $165 billion, 400 and some issues.

Of that amount of money that was raised, only 6 percent was raised by companies with all ratings in the BBB category or lower.

If you include issues that were made by companies with split ratings -- that is one rating in the A category, one rating in the BBBB category -- the number is still only 12 percent.  So the market remains very small.

The other issue that perhaps is not appreciated is, if you look at the types of debt that is being raised by companies with BBB ratings, you will see that very little of it, a third, I think, of the issues that were done by BBB rated companies in 2007 and 2008 were in excess of 10 years.  So there's a lack of access to the long-term market by the lower-rated companies.

MR. PENNY:  And then a number of the other costs of capital experts, Doctors Kryzanowski and Roberts, Dr. Booth, are critical of your approach to estimating fair return, relying on three fundamentally different tests, the equity risk premium, the discounted cash flow and the comparable earnings.

They, as I understand it, rely almost entirely on the capital asset pricing model, or the equity risk premium approach.  Can you respond to that criticism?

MS. McSHANE:  Yes.  I think it is very important not to rely too heavily on any single test.

It might be a somewhat of an overstatement, but each individual test can be viewed as somewhat of a blunt instrument for estimating the return requirement.  Each of the tests is relatively simple to apply, particularly the CAPM.

It appears, on the surface, to be a simple exercise in arithmetic, but every test is, in a sense, an oversimplification of reality.  And in the particular case of the CAPM you have three pieces.  You've got the risk-free rate, the beta and the market risk premium.

Only the risk-free rate is a number that is observable.  The other pieces have to be inferred.

A specific comment that I have with respect to the CAPM is that it doesn't really lend itself very well to tracking changes in the cost of equity.  The reason is because typically when people apply the capital asset pricing model, the market risk premium is based on long-term averages.  The beta is based on historic values and the only piece that changes to any extent is the risk-free rate.

If we look at what has happened in the capital markets over the past year, perhaps we can get an appreciation of why that is problematic.

When I prepared my evidence originally, the long-term Canada bond yield was about 4-1/2 percent, and the yield on utility, long-term utility bonds rated in the A category by DBRS was 5.75 percent.

At the end of May 2008, the yield on long-term Canada bond yields had gone down, by 40 basis points, 4.1 percent.  But the yield on long-term utility bonds had actually gone up to close to 6 percent.

So if we looked only at the CAPM, we would conclude that the cost of equity had gone down.  But if we looked at the change in corporate bond yields as an indicator of where equity costs might have gone, we would have come to a totally different conclusion and determined that the cost of equity might have gone up.  Indeed, it probably has because the whole reason that government bond yields were going down -- I shouldn't say the whole reason, but a large part of it -- was because investors were fleeing to risk-free securities, default-free securities, because of concerns with the risk level in the equity market, which would suggest that the equity risk premium was rising.

So to me it is important to look at a number of tests, and particularly important to look at tests that directly estimate trends in the cost of equity, particularly for the utilities themselves, and that would be primarily a discounted cash flow type of test.

MR. PENNY:  Then in their application of the equity risk premium, Doctors Kryzanowski and Roberts claim that the historic data indicate that the market risk premiums have been shrinking.  I think you just touched on this, and that -- they claim that you haven't taken that decline into account.

Can you respond to that?  Or are those conclusions valid?

MS. McSHANE:  The observed market risk premiums have been declining, that is undeniable.  Why have they declined?  They've declined because what we've observed is relatively high achieved bond returns.

The reason that we observed relatively high achieved bond returns -- actually there are two reasons.  The first is that historically, bond yields have been much higher than they are today.  1982, they were as high as 18 percent.  Today we're expecting them to be 4-1/2 percent.

So the returns on bonds have been higher in the past than they are likely to be in the future, because of the high bond yields during part of the historical period.

Also, when bond yields started to come down, starting in 1982, the decrease in yields produced significant capital gains on bonds.  So together with the high yields, the bond part of the measured risk premium is considerably higher than we would expect it to be in the future.

If you look at the equity market return side of the equation, there hasn't been a downward or upward trend in those numbers.

So if we take the actual achieved equity returns and look at them in light of what the expected bond yields are, the risk premium looking forward is considerably higher than the measured risk premiums, and the market return is -- equity market return has been around 11-1/2.  A bond yield, say, 5 percent over the long term, is about a 6-1/2 percent market risk premium.


MR. PENNY:  All right.  Particularly Drs. Kryzanowski and Roberts criticize your use of adjusted betas in the application of the equity risk premium.  First of all, what is their criticism and how do you respond to it?


MS. McSHANE:  Well, they say basically there are two possible reasons that you would adjust the beta toward one.  One is because betas tend to trend toward one, and the other is to reflect interest sensitivity that utilities face, which may not be captured in what I will call the raw beta.  And they say that there really isn't much of that to be concerned about going forward.


My view on that is that's not why I adjust the beta.  I adjust the beta because what I'm trying to do is to -- not necessarily to forecast the future beta, but to provide a reasonable estimate of the expected return.


The empirical evidence shows that there is a material difference, or a systematic difference, I guess, between what the CAPM, the theoretical CAPM, would produce and what the actual results have shown to be.  Higher beta stocks have earned lower returns than the CAPM would expect, and lower beta stocks have earned higher returns than the CAPM would predict.


So use of the adjusted beta actually is intended to adjust for that.


MR. PENNY:  Okay.  Then there are a number of criticisms of your use of the DCF test.  Drs. Kryzanowski and Roberts are an example, and I think other have commented on it, as well.


And the core of that criticism, as I understand it, is that DCF reflects some so-called optimism of analysts and that you don't adjust for that.  What's your response to that criticism?


MS. McSHANE:  Well, just so everybody understands, there are two pieces to the DCF model.  One is the dividend yield and the other is the expected growth rate.


The criticism is that the growth component of that cost is overstated, because it is known that investment analysts tend to be optimistic when making their forecasts.


First of all, any studies on this that have been done have been done with respect to the market as a whole, and I am not aware of any studies that have focussed specifically on utilities.


But I would say this with respect to the utility sample that I have used.  It's important to realize that utilities are basically the quintessential mature industry.  As a result, it would be reasonable that investors would expect the long-term growth of utilities to approximately parallel that of the economy as a whole.


So you can use long-term growth in the economy as a benchmark against which to judge whether investors would view analysts' forecasts as being systematically optimistic.


In my DCF-based risk premium test, for example, I looked at the forecast growth rate by analysts over the period that I did the analysis, which goes back to 1993.  I compared those forecasts to the consensus forecast for economic growth.


On average, the analysts' forecasts were about 60 basis points lower than the expected growth in the economy.  From that, I drew the conclusion that there is no reason to believe that investors would view the analysts' estimates as systematically optimistic.


MR. PENNY:  All right.  And then let's turn to the issue of comparable earnings.  There's also criticism of the use of the comparable earnings test.


You used the comparable earnings test as part of your analysis.  Can you explain why you do that and respond to the criticism that that is a discredited-and-shouldn't-be-used test?


MS. McSHANE:  At the outset, the key, to me, is that  -- the test is one which would only apply in a regulated environment, and only apply in a regulated environment where the regulatory construct is original cost.


Regulation in North America relies on the original cost construct, and, therefore, it is relevant to use a test which uses the same basis of measurement as the base to which the return is applied.  And that's what the comparable earnings does.  It measures returns in a way that is compatible with the original cost construct.


It is true that in a truly competitive environment, prices would be set on the basis of market values, not book values, but as long as the rate base and the equity are measured on the basis of original cost book values, a comparable earnings test provides a meaningful guideline for a fair return.


In applying the comparable earnings test to non-regulated companies, essentially what one accomplishes is that you look at returns that address the comparable return standard while avoiding the circularity that you would face if you looked only at returns for other regulated companies.


I don't make the claim that comparable earnings is perfect.  Indeed, none of the tests that we tend to use to estimate the return are perfect.  Each of them has significant hurdles that have to be overcome.  Drs. Kryzanowski and Roberts list some of these hurdles.  


A number of these hurdles are similar to the hurdles that are faced by other tests, and I don't believe that the hurdles with respect to comparable earnings are insurmountable.


Ultimately, I believe that each test, including comparable earnings tests, should be given some weight to ensure that the allowed return rests on a solid foundation and, indeed, is consistent with the fair return standard.


MR. PENNY:  All right.  Let's just turn to the evidence of Energy Probe filed by Dr. Schwartz.


What is the core of his method, and do you have any concerns with his approach?


MS. McSHANE:  I have a couple of concerns.


With respect to -- he uses the capital asset pricing model.  There are two issues that I have with his approach.  The first is that he relies on Treasury bill yields as a risk-free rate instead of the long-term risk-free rate that the other experts in this proceeding use.

I don't believe that using Treasury yields as a risk-free rate in the context of the CAPM for estimating the return for a regulated utility is appropriate.  It is a long-term investment.  It should use a long-term rate.

T-bill yields have, although they're not an administered rate, they track administered rates.  They reflect the effects of monetary policy.  They don't have much relationship, if any, to the cost of equity.

The other issue that I have is that when he develops the market risk premium, it is based on 13 years of data.  13 years of data, the returns could be quite random, may have absolutely nothing to do with what investors expected in the past.  They may have nothing to do with what investors expect in the future.  I don't believe that 13 years of data is anywhere close to being an appropriate range or period for measuring risk premiums.

MR. PENNY:  Then finally, Dr. Schwartz claims that, as I understand it, acceptance of his recommendations would produce a market value of the prescribed assets close to book value, but that acceptance of your recommendations would produce a market value below book value.

Do you agree with that?  And, if so -- or if not, why not?

MS. McSHANE:  I shook my head, I have to say, when I read that, because it made absolutely no sense to me.  

The regulatory model says, basically, if -- if you are allowed as a utility to recover your cost of capital and your return of capital through depreciation, and the cost of capital that you are allowed to recover is the same as the cost of capital that you would use to discount those cash flows, then by definition, the market value has to equal the book value.

The only way you can get a difference is either you've misstated the cash flows, or there's a mismatch between the cost of capital in -- the cost of capital in your cash flows and the cost of capital in your discount rate.

So if OPG has requested a capital structure in ROE, which they have, which is higher than what Dr. Schwartz proposes, and the cash flows which contain those proposed costs of capital are discounted at a lower rate than the cost of capital OPG has proposed, of course the market value has gone up, but it's not correct, because the cash flows that would be being discounted would also have to include that same lower cost of capital.

MR. PENNY:  Thank you, Ms. McShane.

Thank you, Mr. Chairman.  Those are my questions in examination-in-chief.

MR. KAISER:  Thank you.  


Mr. Rodger.

MR. RODGER:  Mr. Chairman, I believe that Mr. Shepherd would like to kick off this morning.


MR. KAISER:  All right.  


Mr. Shepherd.
Cross-examination by Mr. Shepherd:

MR. SHEPHERD:  Good morning, Mr. Chairman.  I am not planning to ask any questions about this undertaking J1.3 which is a different subject area, and I actually wasn't prepared for it.  

So I will leave that to my colleague, Mr. DeVellis, at the appropriate time.  

I have relatively brief cross-examination, Ms. 
McShane -- Sorry.  My mic is on.  

MS. CAMPBELL:  We can't hear you.

MR. SHEPHERD:  I'm just mumbling.  

I want to start with, you operate from the stand-alone premise, right?

MS. McSHANE:  Yes.

MR. SHEPHERD:  And as I understand it in your evidence, there are two reasons for that.  One is just fairness.  That's the sort of traditional reason why you use stand-alone is to compare to the proper external comparison.  The second is because if you don't use the stand-alone principle, then you won't be making prudent decisions about new projects because you will get your cost of capital wrong relative to the marketplace.  Is that right?

MS. McSHANE:  Well, if you mean by the first one that fairness is the -- is essentially the same as the opportunity cost principle, then I would agree with that.

MR. SHEPHERD:  Okay.  Then the second part is the need to make intelligent, correct allocation decisions within the organization.  You can only do that if you get your cost of capital right, relative to the marketplace.

So for example, if you look at the fact that the shareholder is the government, then you skew the cost of capital and you would tend to do projects that you shouldn't really be doing, right?

MS. McSHANE:  Maybe I can just cut through it and say if you use a cost of capital that is not reflective of the risk of the project that you are doing, then you are likely to make inappropriate investment decisions.

MR. SHEPHERD:  Now, of course, that choice, that sort of project planning choice isn't inextricably bound to the cost of capital this Board orders, right?  This Board could order a different cost of capital and OPG could still make the right decisions using a correct cost of capital in their project planning decisions, right?

MS. McSHANE:  Well --

MR. SHEPHERD:  In fact, they have for the last few years.

MS. McSHANE:  Well, I will respond to the first part.  I'm not sure if the second part was really part of the question.  But, yes, if -- there is a, I guess, an inference that the cost of capital that the Board allows is equivalent to the true cost of capital, but it may well be that a utility disagrees that the return that has been allowed is equal to their cost of capital, and may use a different cost of capital for purposes of planning.

MR. SHEPHERD:  So, then, another area that you talk about in your evidence is the goal of having an A rating.  And as I understand it, and you have you have said in answer to a Board Staff interrogatory, that having an A rating is not the primary purpose of setting your cost of capital, right?

MS. McSHANE:  No.  I mean there are various reasons for determining the cost of capital.  One is in a regulatory setting.  One is to ensure financial integrity.  One is to ensure attraction of capital, and the third is to ensure that the comparable return standard is met.

MR. SHEPHERD:  As I understand your use of the A rating, it's really a sort of a test.  It's allows this Board to say:  Well, if we use this number, is that equivalent to ensuring that the company would have an A rating?  That's a test of whether we've got the right number.  Is that fair?

MS. McSHANE:  That would be a test.  I wouldn't say it would be the only test.  But it gives a regulator a tangible benchmark for purposes of establishing capital structure.

MR. SHEPHERD:  Now, OPG of course has regulated and unregulated operations, and the organization as a whole is rated.

MS. McSHANE:  Correct.

MR. SHEPHERD:  Right?

I take it you would agree that the regulated operations have a relatively lower credit risk, overall risk than the unregulated operations.

MS. McSHANE:  No, I wouldn't agree to that.

MR. SHEPHERD:  No?  Okay.  Can you help us out, then.  Why would that be the case?

MS. McSHANE:  Well, because the regulated operations include the nuclear assets.

MR. SHEPHERD:  Okay.

MS. McSHANE:  And the consolidated operations overall reflect the diversified portfolio of assets.  So I will give you another, perhaps, example that might help.


If we looked at a company like CU Inc., which has distribution operations, it's got electric PPA -- purchase power agreement operations, generation.  It has electric transmission, electric distribution, gas pipeline.


So each of those probably standing on its own is of higher risk than the composite, but together, because of the diversification, overall the company has a lower rating than most of the utilities in the country.


MR. SHEPHERD:  It is a portfolio theory?


MS. McSHANE:  Right?  


MR. SHEPHERD:  That's not actually where I was going.


As I understand your evidence, it is you have to look at the regulated separately.


MS. McSHANE:  True.


MR. SHEPHERD:  You can't give it credit for the fact it is in a portfolio?


MS. McSHANE:  Right.


MR. SHEPHERD:  Similarly, the unregulated you could also look at separately?


MS. McSHANE:  Correct.


MR. SHEPHERD:  If you did, that has some specific risks that in fact the rating agencies identify as concerns; right?


MS. McSHANE:  Yes.  Yes they do.


MR. SHEPHERD:  So on its own, the unregulated activities would in fact be a less attractive credit than the regulated activities; right?


MS. McSHANE:  They might be, simply because of the uncertainty around the fossil plants.


MR. SHEPHERD:  Well, and I guess the other thing is that you have the downside risk that they won't be able to sell enough, get enough revenues, and the upside cap on their --


MS. McSHANE:  True enough.


MR. SHEPHERD:  You have an asymmetry which would tend to make the risk higher relative --


MS. McSHANE:  It's possible.  I mean, I haven't done that full of an analysis, but I take your point.


MR. SHEPHERD:  If you put the two together, then both would have lower risks; right?


MS. McSHANE:  Well, the consolidated would be -- would take into account the portfolio effect.


MR. SHEPHERD:  And your view is that the portfolio effect is something that the regulated operations should get no credit for?


MS. McSHANE:  No, I don't think I ever said that.


MR. SHEPHERD:  Okay.  Well, I am asking.


MS. McSHANE:  I don't think it is a question of whether you get credit for it, or not.  It's a question of making sure that when you look at the prescribed assets, that they can, by themselves, attract an A rating.


MR. SHEPHERD:  Okay.  Let me put this a different way, a more practical way.


Suppose hypothetically the -- you can borrow for the regulated operations at 6 percent, you can borrow for the unregulated operations at 6 percent, but you can borrow for the entity at a whole at 5.75 percent.


So if you're looking at what the cost of debt, just in this example, is for regulated, you use 6 percent in your approach; right?  You don't use 5.75, even though that is the real number?


MS. McSHANE:  Well, that's not been approach that has been taken historically among regulators.


Typically, there has been the reflection of that benefit to ratepayers.


MR. SHEPHERD:  Your approach is a pure stand-alone approach, in which you ignore the fact that there are unregulated operations; right?


MS. McSHANE:  For purposes of capital structure, yes.  I would not say that if OPG as a whole could raise money cheaper, then you might project the stand-alone operations could -- that you shouldn't flow that benefit through to customers.


MR. SHEPHERD:  So let's look at this A rating question, then.  You are not talking, as I take it, about this Board targeting getting or ensuring that OPG has an actual A rating, right, because they already have an A rating?


MS. McSHANE:  No.  OPG has a low rating by DBRS and it has a BBB plus rating by S&P.  Both of those ratings reflect the -- reflect government support, which is indicated in my testimony.


So when I say they should have capital structure that is consistent with an A rating, first of all, I mean that it should be what it would take for OPG to have an A rating on its own without government support.


Second of all, as I said, they don't really have an A rating, anyway.


MR. SHEPHERD:  Okay.  So it's a notional A rating, then?


MS. McSHANE:  Yes.


MR. SHEPHERD:  Let's imagine what would happen if the government weren't their shareholder and they were borrowing on the market and they were getting their equity on the market.


MS. McSHANE:  Yes.


MR. SHEPHERD:  Right.  So that's what I thought you meant.  So then I looked -- a long time ago I was a banker for many years.  You can tell sometimes.


And I tried to put my banker hat on and think, Would I lend this company money?  And the answer is, No, they already went bankrupt once.  Now they want to do the same things again that they did before.  They want to build some more nuclear.


So I guess my thinking was, if you're looking notionally at them stand-alone, isn't it correct that, in fact, they wouldn't be investment grade?  It doesn't matter how much ROE you give them?


MS. McSHANE:  No, I don't agree with that.


MR. SHEPHERD:  Okay.  So help me understand that, then.  They've offloaded most of their debt to the government.  Taxpayers are paying it; right?  And they're going to go through the same pattern they did when they got in trouble the last time.


I wonder whether you can just describe why investors would see this as an investment grade credit.


MR. PENNY:  Well, I think that we need to be clear about what we mean by the use of the word "they".  OPG is a business corporation created in 1999.  It's OPG who is the applicant here.  You seem to be including in the use of the word "they" a former entity, a state-owned Ontario Hydro.


MR. SHEPHERD:  I take your point, Mr. Penny.  The question still stands, however.


MS. McSHANE:  Could you repeat the question, please?


MR. SHEPHERD:  What I am trying to understand is why investors would see the creditworthiness of Ontario Hydro  -- there I go again -- of OPG.  That was accidental, I assure you -- of OPG to be investment grade if they didn't have the implied guarantee of the government.


MS. McSHANE:  I don't see any evidence from anything that I've read in debt rating reports that would suggest that there isn't confidence in the company to carry out its operations in a prudent fashion.


MR. SHEPHERD:  Well, didn't S&P say that they would reduce it two notches, and that would be to below investment grade; right?


MS. McSHANE:  No.  It would be BBB minus.  It would be just investment grade.


MR. SHEPHERD:  So just barely.  And they would reduce it two notches if they didn't have the implied government guarantee; right?


MS. McSHANE:  Right.


MR. SHEPHERD:  And didn't they also -- I think it was them, or maybe it was DBRS, that said, Well they have all of these high-risk projects coming up, but it is okay, because the government is supporting them?


MS. McSHANE:  I don't know exactly what you're referring to.  Do you have a...


MR. SHEPHERD:  Yes, sure.  Let me just find the reference here.  This is DBRS.  I think it is page 2.  Let me just see.


MS. McSHANE:  Was this provided in an IR response?


MR. SHEPHERD:  It's actually in some material -- it's Exhibit A2, 3.1, attachment A.  It was also in materials I think one of my colleagues has passed out to use in cross-examination.


MS. McSHANE:  So your question was about the high risk projects?


MR. SHEPHERD:  Yes.


MS. McSHANE:  Where do you see that?


MR. SHEPHERD:  In the bottom of page 2, it says:

"Over the long term the company is considering a number of potential capital projects, including the refurbishment of Pickering, new nuclear units at Darlington and a number of new hydro facilities.  DBRS notes that although these potential capital expenditures could pose several significant financing challenges, the province would be directly involved in the planning and development process and we would be expected to provide financial support, if necessary."

That's what I'm talking about.

MS. McSHANE:  Okay, so first of all, when something says it's "significant financing challenges", I don't see that as saying the same thing as they're high risk.

MR. SHEPHERD:  "Significant financing challenges" means hard to borrow money, yes?

MS. McSHANE:  It means that they might have challenges borrowing the money, yes, from the public markets.

MR. SHEPHERD:  And that is typically because of risk, right?

MS. McSHANE:  It may well be that it is because the projects themselves aren't necessarily risky, but it could have an impact on the overall capital structure that results from having to raise funds.

MR. SHEPHERD:  Well, okay.  That I don't understand, because the capital structure question isn't solved by the province saying:  Oh, yes, we're supporting you.  It's only the risk that's backstopped by the province, right?

MS. McSHANE:  No.  But what I'm saying is that if your only access, perhaps, to capital is through the debt market and you have to finance significant capital expenditures, then there will be pressure on your ratings from the addition of the additional debt.

Whereas another utility might, you know, add addition -- they would have the same amount of financing, but they, you know, might add preferred shares, they might add common stock.

MR. SHEPHERD:  Okay.  You lost me there.  Let me try this again.

DBRS says that, You got these projects coming up.  You're going to need a lot of money.  We think it is going to be hard for you to borrow it, or going to be challenging –- sorry -- for you to borrow it, but it's okay because the province is behind you.

And you're saying that the fact that OPG has less financing flexibility, for some reason, that they can't get money in this hypothetical environment that you're talking about, they can't get money the same way that other companies can.

MS. McSHANE:  Well, they don't have the same access to equity capital that investor-owned utilities do.

MR. SHEPHERD:  Okay.  So you're interpreting DBRS to be saying this would increase their debt ratio and that would be -- 

MS. McSHANE:  Well, yes, because they did go on.  They say they note:
"While the anticipated capital expenditures are likely to affect financial metrics, the financial support provided by the province", et cetera.

MR. SHEPHERD:  Okay.

MS. McSHANE:  So I don't see here that they're talking about the business risk of the projects so much as the impact of the financing, potentially, on the financial metrics.

MR. SHEPHERD:  Well, they have said in a number of places that nuclear is the big problem here, right?

MS. McSHANE:  Both debt-rating agencies have spoken to nuclear as being higher risk than other generation.

MR. SHEPHERD:  All right.

MS. McSHANE:  Particularly on the production and the operating side.

MR. SHEPHERD:  Your view, I take it, is that this Board should look at the actual business risks of this particular entity, that is OPG, and to the extent that they are higher than, for example, Hydro One, then this particular entity should get a higher ROE to compensate for those risks, right?

MS. McSHANE:  To the extent that the risks are higher than Hydro One, yes, they should get a higher cost of capital.

MR. SHEPHERD:  Right.

MS. McSHANE:  In capital structure and ROE.

MR. SHEPHERD:  You would, I take it, also take the view that, for example, for electricity distributors in this province, who are various sizes and various levels of financial health, that they should have different ROEs, because they have different risks, right?

MS. McSHANE:  Different risks from each other?

MR. SHEPHERD:  Yes.

MS. McSHANE:  Well, possible.  I mean, I haven't done an in-depth analysis of the individual companies to see if they --

MR. SHEPHERD:  No, but I am asking about the principle.  If you have 80 distributors and they have widely different risks because some are --

MS. McSHANE:  Well, in principle, yes, they should have different ROEs and capital structure.

MR. SHEPHERD:  Okay.  And similarly, they have should have different ROEs to the gas utilities because they're different types of companies and have different risks, right?

MS. McSHANE:  Correct.

MR. SHEPHERD:  I just have two other brief areas.  

You have proposed to use the risk premia from US historical data in calculating the market risk premium, right?

MS. McSHANE:  In part.

MR. SHEPHERD:  And you agree that historically, the US risk premiums are about 140 basis points above the Canadian risk premiums?

MS. McSHANE:  Yes, in part because of higher bond returns in Canada versus the US, partly because of higher market returns.

MR. SHEPHERD:  But it is true that the difference -- when you calculate risk premium in the proper way, as you have done, the difference is 140 basis points, yes?

MS. McSHANE:  That historical difference in the market risk premiums is 140 basis points.

MR. SHEPHERD:  So if the Board agreed with everything you said --

MS. McSHANE:  That would be novel and that would be wonderful.

MR. SHEPHERD:  It would be the first time, right?

MS. McSHANE:  Well, probably, yes.

MR. SHEPHERD:  And except for one thing, and that is, didn't like that differential, could it just take your numbers and deduct 1.4 percent and say that's the ROE, bang?

MS. McSHANE:  No, because it's not that simple.

MR. SHEPHERD:  Okay.  So why is it not that simple?

MS. McSHANE:  Well, because -- sorry.  So let me understand what you're saying.

You're saying that my estimated market risk premium is 6-1/2, and so the Board should just subtract 1.4 from that?

MR. SHEPHERD:  Well, I was being even simpler.  I was saying your number is 10.5 percent.  The Board says:  Oh, we like everything you've said, but we're going to make it 9.1 percent.  Could it do that?

MS. McSHANE:  No.

MR. SHEPHERD:  Okay.  So where's the disjunct?  Where is the step at which you can't do that?

MS. McSHANE:  Well, first of all, there is an assumption in your question that somehow the historical difference between the US market risk premium and the Canadian market risk premium adds 1.4 percentage points to my return.

That wouldn't be true, even if I had only applied one equity risk premium test, because the 6-1/2 percent, while it takes into account the market risk premiums in the US, certainly is not based on the market risk premiums in the US.

MR. SHEPHERD:  Well, you, in fact, calculated the market risk premiums in Canada, both the geometric and arithmetic ways, and got to 4.7 and 5.5, right?

MS. McSHANE:  Historically, and then I explained this morning, as well as in my testimony, why those historic numbers would understate the forward-looking risk premium.  That is because the bond market is quite different now than it was historically.

MR. SHEPHERD:  True, understood.

Okay.  I will leave it at that.

I have one last area, and that is, you said this morning, when you were describing your evidence at N1-1.1, you said that despite the substantial drop in long Canadas between the time you did your evidence last year and today, you still have the same ROE target.  The appropriate ROE, you say, is the same and the reason is because you've also recalculated risk premiums, et cetera, right?

You have also told this Board in your evidence that the existing automatic adjustment factor is the appropriate adjustment factor, right?

MS. McSHANE:  I said it was reasonable.


MR. SHEPHERD:  Okay.

MS. McSHANE:  It wouldn't be my first choice, but --

MR. SHEPHERD:  And that adjustment factor says,  Take the change in long Canada, take 75 percent of it and adjust your ROE accordingly, right?

MS. McSHANE:  That is once you have actually set the ROE.

MR. SHEPHERD:  True.

MS. McSHANE:  So you do that automatically thereafter, but we're still in the process now of establishing the, call it, I guess, the benchmark or the go-forward return.

MR. SHEPHERD:  Understood.  Understood.  But the purpose of the adjustment factor is to get the new right ROE.

MS. McSHANE:  Correct.

MR. SHEPHERD:  And so it should be producing the right number from any base, right?

MS. McSHANE:  The formula should.

MR. SHEPHERD:  Yes.

MS. McSHANE:  The formula won't.

MR. SHEPHERD:  Okay.  So how much did long Canadas go down from last year, about 110 basis points, 100 basis points?


MS. McSHANE:  From last year?  Do you mean --


MR. SHEPHERD:  From when you did your evidence, the numbers you had then to the numbers you are using now, the long Canada number.


MS. McSHANE:  Oh, well, the forecast number is 50 basis points.


MR. SHEPHERD:  Sorry?


MS. McSHANE:  Fifty basis points.


MR. SHEPHERD:  Fifty basis points?


MS. McSHANE:  I believe that I used a risk-free rate of five, and now my forecast is four-and-a-half.


MR. SHEPHERD:  I am not asking about your risk-free rate.  I'm asking about the long Canadas.


MS. McSHANE:  Same difference.


MR. SHEPHERD:  Well, you have done a calculation of the consensus.  I am asking about what the long Canadas are today.


MS. McSHANE:  You're talking about the actual number, as opposed to the forecast?  We're not --


MR. SHEPHERD:  I am not talking about the consensus forecast.


MS. McSHANE:  Okay.


MR. SHEPHERD:  I understand that is how you derive it.  I'm asking about what people are borrowing at today and what people borrowed at a year ago.


MS. McSHANE:  You want to know what the 30-year Canada was --


MR. SHEPHERD:  A year ago.


MS. McSHANE:  -- at the time I prepared my evidence and what it is if I looked it up in the Globe and Mail today?


MR. SHEPHERD:  Yes.  It has gone down 100 basis points?


MS. McSHANE:  And, sorry, what did you say?


MR. SHEPHERD:  I thought it went down 100 basis points.


MS. McSHANE:  Thirty.


MR. SHEPHERD:  Thirty; is that all?


MS. McSHANE:  Yes.


MR. SHEPHERD:  So the formula would then say that you should reduce your ROE target by 22 basis points, right, or I guess on the --


MS. McSHANE:  If you just apply the formula, that's what it would say.  But don't forget the formula itself is a very rough estimate of the relationship between the cost of equity and long-term government bond yields.  I just explained at some length this morning why that's sometimes problematic.


MR. SHEPHERD:  Oh, no, I understand that, and I guess what I'm trying to get to is if your new number, which is the same as your old number, is right for ROE, doesn't that imply that the formula is not a reliable formula?


MS. McSHANE:  The formula has problems, I agree.  I mean, there was an IR that asked the specific question, you know:  If the relationship that you are showing in some of your analysis shows a much smaller relationship between long Canada bonds and the cost of equity, why are you recommending using the formula?


My answer was, well it's not an unreasonable methodology to change ROEs from year to year, but I recognize that it probably overstates the change in the cost of equity, and, in some cases, won't even capture it.


MR. SHEPHERD:  Thank you.  Those are our questions, Mr. Chairman.


MR. KAISER:  Thank you.  Who is next?


MR. RODGER:  I am, Mr. Chairman.


MR. KAISER:  Why don't we take the break, then, and you can start after the break?


MR. RODGER:  That's fine.


--- Recess taken at 10:58 a.m. 


--- Upon resuming at 11:28 a.m.

MR. KAISER:  Please be seated.

Mr. Rodger.

MR. RODGER:  Thank you, Mr. Chairman.  Mr. Chairman, I put together another brief of materials for this cross-examination, which I've made hard copies for the Board and my friends.  If that could be handed out, please, and made an exhibit.

MS. CAMPBELL:  That will be Exhibit K10.1.
EXHIBIT NO. K10.1:  AMPCO brief of materials.  


MR. KAISER:  We have it.

MR. RODGER:  Just on this package, I did e-mail a version yesterday, but I added a few extra excerpts from Ms. McShane's prefiled evidence, so you should have the latest version, the hard copy I gave this morning.

MS. CAMPBELL:  Twenty-three pages long?

MR. RODGER:  Yes.

MS. CAMPBELL:  All right, so everyone -- the Panel Members all have it?

MR. RUPERT:  Yes.

MS. CAMPBELL:  Thank you.
Cross-examination by Mr. Rodger:

MR. RODGER:  Good morning, Ms. McShane.  I am going to be asking questions this morning on behalf of the Association of Major Power Consumers in Ontario.

MS. McSHANE:  Good morning.

MR. RODGER:  I wanted to start by exploring some of the risks that you talk about in your prefiled evidence, and you conclude that Ontario Power Generation is facing.

One area of risk which you describe in your evidence is dispatch risk, and that is that OPG may make an offer into the IESO market and that offer may not be accepted, so the plants are not dispatched and they sit idle.

Do you recall that evidence?

MS. McSHANE:  I have it in front of me.

MR. RODGER:  Yes.  If you go to page 2 of the AMPCO exhibit, I just want to read the beginning of the second paragraph, where you state:

"Revenue risks also include the risks that the hydroelectric assets will not be dispatched.  Dispatched risk remains low at present for the hydroelectric assets, as they are largely base load facility with low marginal costs."

I want to get a sense from you of what "low risk" really means.

If you flip over the page to page 3 of the AMPCO package, we asked OPG in AMPCO interrogatory number 6:

"To indicate the number of hours since market opening, including the blackout period in 2003, when the hydroelectric assets, which had been offered by OPG, had not been dispatched."

Since this question deals with the same risks that we're talking about in your prefiled evidence, I just want to see if you have the same understanding that I do of the answer to OPG, and, again, how this relates to your evidence.  If you look at part of the response starting at line 26, the answer is that -- as follows:

"As the prescribed hydroelectric assets are energy-limited resources..."

We took this to mean that by "energy-limited", that OPG has only enough water, at times, to run at partial capacity.  Is that how you would interpret that?  That is one of the inherent risks of hydroelectric?

MS. McSHANE:  Well, that is certainly one of the risks of hydroelectric that there's more or less water than forecast.

MR. RODGER:  In your view, is that how we should interpret part of that answer, is energy-limited resources?

MS. McSHANE:  I didn't write this answer and I don't know exactly what it is they meant by it.

MR. RODGER:  All right.

MS. McSHANE:  If I were to read it, I mean that's a reasonable interpretation.

MR. RODGER:  Okay.  Then the second part of that sentence goes:

"All capacity offered into the IESO market may not be dispatched for energy."

We took this to mean that some hydroelectric may be offered for operating reserve, ancillary services, that kind of thing.  Is that a fair interpretation?

MS. McSHANE:  That's what the next sentence says.

MR. RODGER:  Right.  Then starting at line 33, it reads:

"All offered capacity from the prescribed hydroelectric assets has not been dispatched in almost every hour since the Ontario market opening in 2002, excluding the periods of market interruption in August 2003.  In most cases, it was the peaking energy that was not dispatched."

The way that we've interpreted that part of the answer is that -- it may be as part of OPG's bidding strategy that you wouldn't put all the hydroelectric in it at one price.  You may hold back part of it and bid it in at a higher price -- perhaps the price of marginal gas -- and if it wasn't needed, then that might be a reason why the full amount that you have put into the market, you have offered to the market, would not be accepted.

MS. McSHANE:  I –-

MR. RODGER:  Is that fair?

MS. McSHANE:  Yes, it is fair, but I guess I am having a little trouble understanding the first sentence.

MR. RODGER:  So did we.

MS. McSHANE:  "All offered capacity from the 
prescribed assets has not been dispatched in almost every hour."

It sounds like there might be an error in the sentence, possibly, that the payment amounts panel might be able to verify.

MR. RODGER:  Maybe I will get this clarified with the witness -- with the payments amounts witness panel.

But I guess the fundamental question we asked here was the number of hours that hydroelectric had not been dispatched.

Do you know this answer, Ms. McShane?  Do you know since market opening, the actual number of hours when hydroelectric has not been dispatched?

MS. McSHANE:  Not specifically, no.  If I interpret this sentence correctly, it says almost every hour since the Ontario market opening in May 2002.

MR. RODGER:  Would you agree with me if I said that it must be a very insignificant amount?

MS. McSHANE:  I would agree that it has been a small amount since the dates they indicate here.

MR. RODGER:  Now, you also talk in your evidence about nuclear dispatch risk.  Again, if we go to page 4 of the AMPCO materials, and this is from Exhibit C2, tab 1, schedule 1, pages 68 and 69, at the bottom, your evidence reads:

"Revenue risks for nuclear operations include the risks that the generating plants will not be dispatched.  Dispatch risk is low at present for the nuclear assets, as they are base load facilities with low marginal costs."

Once again, on page 6 of the AMPCO materials, we have included AMPCO interrogatory 9, and once again, we asked for the number of hours that the nuclear plants were not dispatched since market opening.  And OPG said that information is not available, but in the answer, went on to say that -- the last part of the answer is:

"For this reason, the number of occurrences where nuclear assets were offered into the IESO market which were not dispatched since market opening for market reasons, i.e., not subject to congestion-related curtailment, would be very few."

Once again, do you agree with this answer, first of all?

MS. McSHANE:  I have no reason to disagree with it.

MR. RODGER:  Once again, I take it that you do not have the information of how many exact hours since market opening the nuclear would not be dispatched?

MS. McSHANE:  No.

MR. RODGER:  No.

MS. McSHANE:  I don't.

MR. RODGER:  So like with the case with hydroelectric, really, we're talking about insignificant risks here.  Is that fair?

MS. McSHANE:  I said in the testimony that at present the dispatch risk of both hydroelectric and nuclear assets was low.

MR. RODGER:  Yes.  On pages 7, 8, 9 and 10, we include an excerpt of the Standard & Poor's report of December 9, 2005.  I just want to take you to the bottom of page 8 of the AMPCO materials, which states that:

"OPG has a strong cost competitive position in its primary market.  The combined output of the generators base load regulated assets of about 60 terawatt-hour per year is among lowest cost generation in the province, and it is not exposed to significant dispatch risk."

I take it you would agree with this conclusion of Standard & Poor's?

MS. McSHANE:  I have no reason to disagree with it and it is consistent with what I said.

MR. RODGER:  Okay.  So we have kind of this insignificant, what I call historical and current dispatch risk, but you also talk about, in your evidence, emerging new risk with respect to dispatch.

If you go to page 11 of the AMPCO package, and again this is taken from your evidence, Exhibit C2, tab 1, schedule 1, page 65, starting about the middle of the second paragraph, this is when you're talking generally about dispatch risk.

Then you state as follows:

"However, this risk will rise as additional low marginal cost generation becomes available.  The emerging risk that OPG's prescribed assets are not dispatched and there will be unutilized base load capacity will impact the hydroelectric facilities first."

I take it this is still your evidence today?

MS. McSHANE:  I have no reason to change it.

MR. RODGER:  You draw the similar conclusion, I believe, with respect to nuclear; isn't that so?


MS. McSHANE:  Well I don't see how it could be exactly the same.


MR. RODGER:  I think if you go to page 5 of the AMPCO materials, this is now taken from page 69 of your evidence, the very first sentence on that page.  This is --


MS. McSHANE:  Page 5 of the materials?


MR. RODGER:  Of the AMPCO bundle.  The top sentence reads:

"The risk to the nuclear operations, there will be unutilized base load cap capacity will rise as additional low marginal cost generation becomes available."


MS. McSHANE:  Yes.  But as I indicated, it is not identical to the statement about hydroelectric.


MR. RODGER:  The same general theme?


MS. McSHANE:  The theme is the same, yes.


MR. RODGER:  Okay.  Now, what we tried to do was we asked you an interrogatory to try and get some more information and details on the types of generation that you believe creates this new emerging risk for OPG.


When the answer came back, you referred us to Board Staff interrogatory 12.  We have included that on page 12 of the AMPCO package.


The Board Staff asked for specific examples.  Your answer is as follows, "In this context, low marginal" --


MR. PENNY:  Payment amounts panel.  It is not Ms. McShane's answer.


MR. RODGER:  Let's read the answer and see if it does apply to the conclusion drawn by Ms. McShane in her evidence.  So the response to Board Staff interrogatory 12 is:

"In this context, low marginal cost generation is in reference to the announced new wind power projects in the Bruce A refurbishment project.  These generators can offer a low marginal cost, but they will receive a price specified in the power purchase agreement with the OPA.  These units may pose a dispatch risk for OPG's nuclear and hydro facilities during periods of low demand."


Is that the same type of answer that would be applicable to the conclusion in your evidence, Ms. McShane?


MS. McSHANE:  Yes.


MR. RODGER:  What we wanted to do is understand how you drew this conclusion, particularly to the focus that there could be a dispatch risk for OPG nuclear and hydro during periods of low demand.


If you go to page 13, we did some analysis to come up with what we thought would be a reasonable proxy for the phrase "a period of low demand".


So what we did is we looked -- the source of this information on page 13 is from the IESO website.  It is market data.  We looked at Ontario demand from January 1st, 2005 to June 3rd, 2008.


Of all of the hours over those years, over 29,000 hours, we found that 96.6 percent of the time, the Ontario demand was above 13,000 megawatts.  So only 3.4 percent of the time was it 13,000 megawatts or less.  So we used that as a bit of a base, our interpretation of low demand.


I just wonder, when you came up with your conclusion about this increase for periods of low demand, did you do kind of a similar type of analysis?  Is this what you had in mind when we talk of periods of low Ontario demand? 


MS. McSHANE:  Well, there would be a similar type of approach.  I mean, I didn't do the specific analysis.


MR. RODGER:  You didn't do the specific analysis?


MS. McSHANE:  No.  I did my assessment through discussions with the appropriate people at OPG.


MR. RODGER:  I see.  Would you accept that when Ontario demand only occurs 3.4 percent of the time, that's a reasonable description, that this would be a period of low demand?


MS. McSHANE:  Can you tell me, how did you choose the 13,000?  It's just...


MR. RODGER:  Of the entire spectrum of the three plus years, the data came back that of all the hours, there was only this very, very small percentage, 3.4, that fell under that amount.


MS. McSHANE:  Okay.


MR. RODGER:  That just seemed like a reasonable, if you like, base level.


So we used this to kind of get a flavour, a context for a period of low demand, and then what we did, if you look on page 14 and 15, we tried to actually -- we looked at excerpts from the IESO's 18-month outlook to look at the types of generation that you had pointed to as creating this new risk or emerging risks to the wind and the Bruce refurbishment.  


And on page 15, it actually spells out various new wind projects and the Bruce refurbishment, and their estimated effective dates over 2008 and 2009.


You will see on this page 15 that there are four new wind projects, the Krueger project, Wolfe Island, the Melancthon II wind project and Enbridge.


They give their capacity in megawatts on the right-hand column?


MS. McSHANE:  Right.


MR. RODGER:  So we have added up all of those wind projects and they come to a total of 631 megawatts of new wind.


If you look at the bottom, the Bruce refurbishment, that is at 750 megawatts.


So we added those two up and we get a total of 1,381 megawatts of new generation.


MS. McSHANE:  Okay.


MR. RODGER:  Do you see that?


MS. McSHANE:  Yes.


MR. RODGER:  Now, then if you turn the page over to page 16, what we tried to do is chart the generation seen in Ontario, starting from this period of low demand, adding in the new generation that you have testified creates a new emerging dispatch risk, to kind of get a flavour of, at a period of minimum demand, what kind of exposure OPG could be facing.


So you will see that at the top left we have our 13,000 megawatt minimum, and then from that minimum we've deducted existing Bruce Power.  And that's -- they have 4,700 megawatts of existing capacity.


We have used an 85 percent capacity factor, and that has been their average capacity factor over the last three years.  So that gives us 3,995 megawatts from Bruce.


We've also deducted existing wind generation in Ontario.  There is 470 megawatts of existing wind.  We have used two times the OPA's 20 percent planning criteria, to try to be generous, and that results in 188 megawatts of existing wind.


Then we have added the new wind that we have just referred to in the IESO outlook materials, which again is 632 megawatts of new wind, again, two times the 20 percent OPA's wind capacity credit.  That gives us 253 megawatts of new wind.


The Bruce refurbishment, 750 megawatts, again, we have an 85 percent capacity factor, and that yields 638 megawatts.


So when we deduct all of those items from the minimum Ontario demand, we get some 7,927 megawatts of off peak demand.


Then we have said, Well, what would OPG put into the market?  And of course OPG nuclear has 6,600 megawatts, and we have used a 78 percent capacity factor.


This is taken from the 2006/2007 average.  That yields 5,148 megawatts.


We have also included the 1,900 megawatts of regulated hydroelectric that arises from regulation 53/05.  That brings us to what we've called a residual-based demand of 879 megawatts.


Now -- so when we went through this kind of high-level analysis, we just could not see the conclusion that dispatch risk was being increased because of this new generation, and I'm wondering if you could comment on this.  And I guess, first of all, have you done -- did you do a similar analysis when you drew your conclusion?


MS. McSHANE:  No.  As I said, this was through discussions with the appropriate people at OPG.


MR. RODGER:  I see.  So you took your guidance and based your conclusion on discussions from OPG?


MS. McSHANE:  Yes.


MR. RODGER:  Okay.  Now, another area of risk that you talk about in your evidence is regulatory risk; is that correct?


MS. McSHANE:  Yes.


MR. RODGER:  I want to ask you if you could reconcile a couple of statements in your evidence that we had difficulty with.  The first I have included on page 17 of the AMPCO package, and that's Exhibit C2, tab 1, schedule 1, page 63.


It is the first sentence of the first full paragraph, which reads:

"On balance, I view the regulatory risk for OPG as higher than that of the typical regulated utility in Canada and in Ontario."

Do you see that quote?

MS. McSHANE:  Yes,

MR. RODGER:  Then on page 18, from your same report, page 60, and it is the bottom sentence of the second paragraph, and it reads:
"In the interim, OPG's regulated operations will be subject to cost-of-service regulation.  For purposes of the business risk assessment, I proceed on the assumption that OPG will be treated no differently from any other utility subject to the Board's jurisdiction.  OPG will be provided a reasonable opportunity to recover its prudently incurred costs and earn a return that reasonably reflects the risks to which it is exposed."

Do you see that?

MS. McSHANE:  Yes.

MR. RODGER:  Our question is:  If you believe that the OEB will treat OPG like any other utility and allow it to recover its prudently incurred costs and get a return, how is it, then, that OPG can also have faced higher regulatory risk than other Canadian utilities?

MS. McSHANE:  Because of what is on page 63, or page 17 of your document.  The fact of the matter is that this is a whole new ballgame, and one can do one's best, in terms of providing the same basis, but there is considerable uncertainty as to how this end state will work out.

MR. RODGER:  But if this Board is guided and directed by well-established principles of prudent cost recovery, why would it really matter if this is a –-


MS. McSHANE:  Because there are different aspects to regulatory risk.  There is not just, just the part that's referenced on your page 18.  There is this whole issue of how this will all work in a hybrid market of regulation and competition.

MR. RODGER:  Well, is it something about the fact that the Board is now dealing with generation, that you think the Board is going to have difficulty with, as opposed to wires, transmission wires or distribution wires?

MS. McSHANE:  Well, it's the issue of applying the same approach to a totally different marketplace.

MR. RODGER:  Are you suggesting that because it's generation, somehow this Board cannot distinguish between prudent and imprudent costs?

MS. McSHANE:  That's not what I was saying at all.  There's, you know, cost recovery and there is how the regulatory model actually works.

MR. RODGER:  So we're just trying to distill what the key distinguishing feature is in this regulatory context.

MS. McSHANE:  Well, the Board can allow the company to recover its costs, but the very fact that OPG is operating in a currently hybrid market -- which has a competitive side to it -- may make it difficult for it to recover those costs.

MR. RODGER:  But at the end of the day, the test the Board is going to apply is whether these costs were prudently incurred or not.

MS. McSHANE:  Well, for purposes of allowing recovery.


MR. RODGER:  Yes.

MS. McSHANE:  That doesn't necessarily mean they will be recovered.

MR. RODGER:  But you will agree with me that this Board should not be approving imprudently incurred costs?

MS. McSHANE:  I didn't ever suggest that they should, no.


MR. RODGER:  I guess we're struggling here.  What is the new difficulty that other utilities don't face --

MS. McSHANE:  The difficulty is that --

MR. RODGER:  -- if the regulatory test is whether these costs are prudently incurred or not?

MS. McSHANE:  The difficulty is in the ability to recover costs in a competitive environment, versus a utility which doesn't face the same degree of competition.

So it's the price pressures.

MR. RODGER:  But we're talking about regulated assets.

MS. McSHANE:  I agree, but the regulated assets are operating in a hybrid competitive market.

MR. RODGER:  Now, on page 19 of the AMPCO package, this is at page 64 of your evidence, you also talk about another area of risk, political risk.

Part of the second paragraph reads as follows:

"With the electricity market environment still in flux, the regulated operations of OPG remain subject to political risk.  Since the initial restructuring that began in 1998 with the Energy Competition Act, there have been several interventions by the government into the operation of the electricity market.  Ontario is one of the two provinces in Canada in which political intervention in the regulatory process has been a factor in the business risk assessment of utilities by the debt rating agencies (Alberta is the other)."

Would you agree with me, Ms. McShane, that the source of this political uncertainty in Ontario is the provincial government, the government of Ontario?  And of course the government of Ontario is OPG's sole shareholder.

MS. McSHANE:  Yes, I agree with that, except that I think one has to make a distinction between the shareholder of OPG, and the province as the creator of energy policy that affects the whole industry.

MR. RODGER:  Why do you make that distinction?

MS. McSHANE:  Because the province has different roles and different constituencies that it has to satisfy, and it owns OPG.  So it's its shareholder, but at the same time, it is the author of energy policy which affects the entire electricity industry, including OPG and the other electricity entities.

MR. RODGER:  So is the practical consequence of that that somehow OPG would be disadvantaged or subject to -- 

MS. McSHANE:  I sort of look at it in the context of the risk that would be -- that OPG would face as part of the industry, as opposed to specifically as a result of its ownership.

So you would -- even if it were an investor-owned utility, energy policy would affect it.  Just as in the example I gave here, it affects utilities in other places that are not owned by government.

MR. RODGER:  Would you agree with me what makes Ontario different is because the province of Ontario is the sole shareholder of OPG, it can put itself in a position where it protects its investment, in this case, its investment in OPG.  Would you agree with that?

MS. McSHANE:  There are positives and negatives.  It has some ability to influence OPG.  They can do it in either way.  I mean one has to assume that for purposes of cost of capital, that the impacts are, I guess you could say like in a global sense, the way they would affect an investor-owned utility who is subject to political decisions on energy policy.

MR. RODGER:  I take it, then, you would agree that the province of Ontario could act in such a way as to protect its investment in Ontario Power Generation?

MS. McSHANE:  It could.  It could also act in such a way to negatively impact the company.

MR. RODGER:  Now, I wanted to refer you on page 20 of the AMPCO package --

MR. KAISER:  Mr. Rodger, before you go on, can I just follow up on that?

MR. RODGER:  Yes.

MR. KAISER:  So that I can understand this political risk you're talking about at the bottom of page 19, you're saying there is a political risk that OPG faces that would not be faced by other electric utilities we regulate in Ontario, such as Toronto Hydro, one of Mr. Rodger's other clients.  Is that right?

MS. McSHANE:  The reality is yes.  There could be political risks that affect OPG differently from other utilities, partly because they are the generation company.

But I try to make a distinction --

MR. KAISER:  Let me just stop you there.  Usually, the political risk that people talk about manifests itself in the form of, as has happened, the government intervenes and puts a limit on the price of electricity.

MS. McSHANE:  Right, right.

MR. KAISER:  And that could impact the rate-of-
return --

MS. McSHANE:  Correct.

MR. KAISER:  -- of all electric utilities in the province.

MS. McSHANE:  Correct.  Right.  Right.  And that's sort of what I had in --

MR. KAISER:  Is that the type of political risk you're talking about?

MS. McSHANE:  That's what I had in mind, the types of actions that --

MR. KAISER:  But that type of action would affect all of the electric utilities regulated?

MS. McSHANE:  Right, correct.

MR. KAISER:  I thought you were saying there is something unique about OPG that arises from its government ownership.


MS. McSHANE:  Sorry.  No, I wasn't.  I was saying that there is something about its being in Ontario and being in a restructured market, which, like Alberta, still has the potential for political influence in the industry.


This particular discussion was not to OPG specifically.


MR. KAISER:  I misunderstood you.  Thank you.


MR. RODGER:  So if you can turn to page 20 of the AMPCO package, Ms. McShane, this is a CCC and VECC interrogatory 41.  The reference is Exhibit L, tab 3, schedule 41, page 1 of 2.


In this interrogatory, part B, the intervenors asked:

"Please explain in full why any financial flexibility adjustment is needed when ..."


And part B is:

"OPG is owned by the province of Ontario and there is no publicly issued equity, so there cannot be a market break or decline in the stock price when equity is issued to raise capital to serve."


If you flip over the page, page 21, of the AMPCO exhibit, and I just want to read part of your answer, or at least the answer ascribed to you:

"Ms. McShane disagrees with the premise the equity in OPG has been raised by ratepayers.  Ratepayers pay for service, including a return on the capital devoted to service delivery.  In general, they do not acquire an ownership position in the company.  The equity, including the retained earnings, is owned by the shareholder who can extract it in the form of dividends to be used for purposes other than electricity-related services or reinvest it in generation assets.  Retained earnings in OPG have been no more raised by ratepayers than the retained earnings in Enbridge Gas have been raised by its ratepayers or the retained earnings in Tim Hortons have been raised by the customers who purchase doughnuts and coffee."


I take it you would also accept this answer?


MS. McSHANE:  I wrote this answer.


MR. RODGER:  You wrote this answer, okay.


So when you talk about retained earnings of OPG belonging to the stockholders and not to the ratepayers, would you agree with me that it follows that in the situation where retained earnings were negative, the loss also belongs to the stockholders and not to the ratepayers?


MS. McSHANE:  Well, if the return is negative, the company has no right to go back to ratepayers to recoup that.  So if there is a negative return, it's to the stockholders' account.


MR. RODGER:  Not to the ratepayers?


MS. McSHANE:  Unless there's a circumstance you're thinking of that I'm not, but as a general proposition -- 


MR. RODGER:  No, I'm just trying to --


MS. McSHANE:  -- the losses are to the account of the stockholder.


MR. RODGER:  No.  I am just trying to understand the answer you gave in this interrogatory.


Now, we talked a little earlier on about -- you had mentioned in your evidence about political interventions going back to 1998.  Would you agree with me that one of these political interventions was the re-evaluation of the assets of OPG and the identification of resultant stranded debt?  Would you agree with that?


MS. McSHANE:  Well, it was part of the restructuring effort.


MR. RODGER:  Yes.  It was an act of the province of Ontario that initiated all that, wasn't it?


MS. McSHANE:  Yes.


MR. RODGER:  Yes.  Would you agree with me that the burden of this stranded debt was shifted, entirely, to consumers through mechanisms such as the debt retirement charge?


MS. McSHANE:  Well, I would say that the province has set up mechanisms to recover the stranded debt costs, part of which were the stranded debt charge.


MR. RODGER:  Who pays the debt retirement charge?  It's consumers, isn't it?


MS. McSHANE:  Consumers pay that.  They would have -- had the industry not been restructured, those would have been costs they would have borne under the old model.


The reason that most regulatory jurisdictions who also have gone through restructuring have determined that these stranded costs are recoverable from customers is because they were costs that were incurred under a different regulatory model, but that doesn't eliminate the utility's right to recover those costs.


MR. RODGER:  No.  I think the point is, Ms. McShane, that in our case, the reality was that OPG was financially restructured.  Stranded costs were identified, and it's customers who are paying for all of the stranded costs; do you agree with that?


MS. McSHANE:  What I was trying to say to you is that is no different than other regulatory jurisdictions that have been restructured, that there have been competitive -- what are they called?  They're basically stranded debt costs, for companies that were forced to divest their generation at less than book value, or they had to move it to an affiliate.


The same kind of circumstance happened, where the regulator determined that the utilities had a right under the regulatory compact to recover these costs, and, to the extent that they needed to be recovered through some form of stranded debt cost, there was a rider or a surcharge specifically imposed for that purpose.


MR. RODGER:  So I think your answer is, yes, you do agree with my proposition?


MS. McSHANE:  That there is a debt charge -- there is a stranded debt cost that consumers of electricity are charged with paying.


MR. RODGER:  Yes.  Would you agree with me that the stranded debt issue in Ontario, that is the equivalent of an example that retained earnings were negative, but they were shifted all to consumers and not to the shareholder, the province of Ontario?  Would you agree with that?


MS. McSHANE:  I'm not sure what you mean.  There was debt.  The debt had to be paid for, and so the debt is going to be recovered.


MR. RODGER:  But in the real world, in the real business world, companies like the former Ontario Hydro would be bankrupt and their shareholder would eat that.  But in Ontario, it is not bankrupt.  The result is stranded debt, and in Ontario consumers pay for that, not the shareholder, the province of Ontario.


So it is an example where retained earnings were negative, but it's the consumers that are going to pay for that and hold the bag, not the shareholder?


MS. McSHANE:  Well, this is -- to my mind, we're looking at this in a go-forward basis and where we have a new model, and we need to deal with what's appropriate for this company going forward.


MR. RODGER:  Your evidence talks about political interventions going back to 1998, the Energy Competition Act.


MS. McSHANE:  Those were examples of where the government had --


MR. RODGER:  Yes.  I'm putting forward an example of what happened in stranded debt, and it doesn't correspond.  The reality doesn't correspond to your answer about retained earnings belonging to the shareholder and not ratepayers.  The converse surely is also correct, that if there's losses, they accrue to the shareholder.


MS. McSHANE:  That's true.  Under -- it was a different model.  I mean, now we're dealing with an Ontario business corporation expected to operate on a commercially-viable basis, and it will follow that model, not an old model.


MR. RODGER:  So I take it, Ms. McShane, your evidence is not that if there's retained earnings, they belong to the shareholder if retained earnings are positive, but if retained earnings are negative, then they belong to the ratepayer?


MS. McSHANE:  I don't agree with that, no.


MR. RODGER:  So in all cases, negative retained earnings go to the shareholder?


MS. McSHANE:  Going forward, under the commercial approach, I would say, yes.


MR. RODGER:  So would it be fair to describe the historical stranded debt -- that's a bit of a perversion to historical stranded debt, that's a bit of a perversion to the principles you're espousing?  Is that fair?

MS. McSHANE:  Well, I see it as a way of resolving the reality of the past, but starting afresh, if you will, with this new approach.

MR. KAISER:  Ms. McShane, when you talk about risk, you are in part talking about risk to the shareholder?

MS. McSHANE:  Risk to the shareholders, yes.

MR. KAISER:  So you've said that there's higher risk here with respect to this company, because there's potential for government intervention along the lines that we talked, that the government, as they did in the past, might intervene in the market and artificially put a cap on the price of electricity.

But at the same time, the past practice that Mr. Rodger is speaking of is the government simultaneously can intervene and unilaterally shift those costs to the ratepayer.  So how can you talk about one without talking about the other?

MS. McSHANE:  Well, what the government is trying to accomplish -- from my understanding -- is to transition OPG to a sustainable model, to have it be more autonomous, to have, obviously, oversight by the Ontario Energy Board.  There was one other thing I was going to mention, but --

So while there's a possibility that the government can step in and change the industry model again -- and that's where the risk comes from -- looking at OPG as a commercial entity, it's a more autonomous company that's expected to be sustainable, be able to go out into the capital markets on its own.

MR. KAISER:  But this is a unique shareholder.  This shareholder has tools that no other private shareholder has.  It can, as Mr. Rodger has pointed out, shift any losses to the ratepayers, as it has done in the past.

MS. McSHANE:  But that's -- I suppose you are right, that it could.  The whole idea, I thought, was to have the oversight by the Board, and therefore create a greater degree of separation between the government and OPG, from that perspective.

MR. KAISER:  That is certainly the goal, one would think.  And if they do continue the hands-off, then there's not that risk and they won't need to exercise these extraordinary powers.  But if they don't, they have a mechanism to protect the shareholder, without any approval of the Board, to offload those costs on to the ratepayers.  So in terms of risks to the shareholder, I mean you have to look at both sides of the model, don't you?

MS. McSHANE:  Well, I, yes, I agree that you have to look at both sides, and there is also the other side, that they could end up -- because the government is at the end of the day a political animal, which has consumer constituency as well -- they can do the opposite.

MR. KAISER:  Thank you.

MS. CHAPLIN:  Ms. McShane, isn't it, at the end of the day, the shareholder is going to control how much risk this entity bears?  It has, as Mr. Kaiser explained, they have all of the tools and they have used those tools.  So why is it appropriate to compensate a shareholder for the risk that they control?

MS. McSHANE:  Well, again, I mean are you talking about the shareholder as a political --

MS. CHAPLIN:  I guess I am talking about in the normal course, when we talk about regulatory risk and political risk, it is because the shareholder has no control over those aspects --

MS. McSHANE:  Right.

MS. CHAPLIN:  -- to compensate them for the fact that they can't control them.  In this instance, the shareholder quite clearly has control over those risks.  Ergo, so then I am trying to understand why you believe it is still appropriate to compensate that shareholder, for that risk that they control.

MS. McSHANE:  Well, because I view it in the context of the influence that the government would choose to bring over the entire industry.

Instead of looking at it specifically from the directives that the shareholder might give to OPG specifically, I look at it in terms of what actions they may make to affect all of the companies, not just the ones that they happen to own.

MS. CHAPLIN:  Okay.  Sorry.

MR. RODGER:  We could have a very interesting discussion about all of the political interventions over the last decade, and part of your answer, Ms. McShane, was that these things have happened in the past.  But I do want to put one further example to you.

Are you aware that in the old Ontario Hydro, Ontario Hydro was responsible for what are known as the NUG contracts, non-utility generator contracts?

Are you aware of that?

MS. McSHANE:  Vaguely.

MR. RODGER:  Vaguely.  Are you aware that in 2004, arising from a Provincial budget, the province of Ontario intervened and introduced a special NUG charge in the province, and that is if there was a difference between the price received in the market for this NUG power and the price paid to generators, the difference was made up by consumers?  Are you aware of that?

MS. McSHANE:  Yes, I was.

MR. RODGER:  So, again, isn't this just another example, more recent history, 2004, when with when faced with a loss that its own company would bear -- Ontario Power Generation -- the province acted to shift that liability on to consumers.  It could have said, These NUG contracts are a legacy issue.  We want OPG to pick them up and manage them.  If there's a loss, we will let our company absorb that.

But they said, No, we are going to have a special levy, and consumers will pay the difference.  It will make up the difference.

MR. PENNY:  Sorry, Mr. Chairman, as I understood the question, there is no -- it has not been established in our fact that this has anything to do with OPG.

I think what Mr. Roger put to the witness was, isn't this an example of the government protecting OPG?  It's not clear what that has to do with OPG, Mr. Rodger.

MR. RODGER:  These contracts all originated, of course, with Ontario Hydro.

MR. PENNY:  That gets back to my problem about who "they" is.

MR. RODGER:  Well, I think the issue, Ms. McShane -- again, recent history of the NUG contracts -- that the shareholder, the province of Ontario, had choices where these contracts landed.  It would seem to me that a generator, its generator might be one place, but instead, the way the province intervened was to say, No, consumers, you're going to pick up the tab here; not our company, and not us as the government.

So it's another recent example of how consumers have lost through political interference.  It hasn't hurt OPG at all.

MS. McSHANE:  I don't know enough about those contracts to comment substantively, but it never stopped me from saying anything.

MR. RUPERT:  Mr. Rodger, further to Mr. Penny's comment, I just want to be clear what point you're trying to make.

My understanding was that at the relevant date in the case you have just cited, the contracts were held by the Ontario Electricity Financial Corporation, not Ontario Power Generation.

MR. RODGER:  That's correct.

MR. RUPERT:  In that case, I was wondering how OPG enters into the scenario or the situation you are talking about.

MR. RODGER:  Well, when assets and values were established and these NUG contracts were part of the picture, one option could have been for the province to have these go to OPG, generation contracts to be managed by a generator.

MR. RUPERT:  So it's kind of a hypothetical; you're saying they could have done this, they could have done that?

MR. RODGER:  That's correct.  But the way they've acted was not in that light, and the burden was all put on the consumer.

MR. RUPERT:  I understand.  Fine.

MR. RODGER:  This next question is just, I think it is more of a clarification of some of your answers from this morning.

I don't have the -- I don't have a page made up, but if you could turn to page 6, please, of your report, this is Exhibit C2, tab 1, schedule 1, page 6.  There's a box under part B where you gave the various values of risk-free rate, equity risk premium, financing flexibility adjustment return on equity.


 I believe your evidence this morning was you initially had put in 5 percent for the risk-free rate.  You updated it and your new number was 4-1/2 percent.  Was that your evidence?


MS. McSHANE:  Yes, correct.


MR. RODGER:  But I think your evidence also was that notwithstanding this change, it doesn't flow through to any other changes in this box; is that right?


MS. McSHANE:  No, that wasn't what I said.


MR. RODGER:  I think you said it doesn't lower the equity risk premium.


MS. McSHANE:  No, I didn't say that either.


MR. RODGER:  Okay.


MS. McSHANE:  It does lower the result in the bottom of the table.


MR. RODGER:  Yes.


MS. McSHANE:  So maybe the best thing to do, since you've got that there, is we could just fill in the box, and then you could see what the numbers are.


MR. RODGER:  Okay.


MS. McSHANE:  So the first piece on the box, the risk-free rate, you would change that to 4-1/2, and then the next piece, you would change to 4-1/2 to 5-1/2.


Then the next piece, which is the financing flexibility adjustment, stays the same, and then the last piece is 9-1/2 to 10-1/4.


Then the other bit that changes would be in C, where you've got -- you see in the second line of C where it says 9-1/4 to 9-1/2?


MR. RODGER:  Yes.


MS. McSHANE:  That would change to 9-1/2 to 10, and then the 9.75 to 10 on the fourth line would be 10 to 10-1/2.


MR. RODGER:  Why is it that the equity risk premium would go up from 4.20 to 4.5?


MS. McSHANE:  Because the equity risk premium test is actually the result of three tests.  One of them is a test that compares long-term government bond yields to DCF costs of equity over time, and there is an inverse relationship in that model between interest rates in the equity risk premium.  So since the equity -- sorry, since the bond yield has gone down, the equity risk premium goes up.  


And that is sort of the same -- the same assumption in the Board's automatic adjustment formula.  It's just that theirs is based on 75 percent change, and the actual empirical evidence underlying this particular approach shows that the relationship is -- there isn't as much sensitivity of the cost of equity to interest rates.


MR. RODGER:  All right, just one final area.  If you could turn to page 23 of the AMPCO package, please?


This was touched on earlier by one of my friends.  What we've done is we have assembled the market risk premium results from the prefiled evidence of the various experts, yourself, Dr. Booth, Dr. Kryzanowski and Dr. Roberts.


When we look at the Canadian data, the longer data from the '40s and then the '20s to 2006 and 2007, the longer views are roughly the same; around 5 percent is the risk premium.  Then when you go a little more recent, from the '50s, you see the amount is lower, and you have explained that this morning in your in-chief.


But when Dr. Booth and Dr. Kryzanowski and Dr. Roberts looked at this information, they landed on a risk premium of 5 percent.


When you looked at it, you have ended up with 6.5 percent or 30 percent higher, and I believe that was your evidence this morning, was it not, where you ended up?


MS. McSHANE:  It is 6-1/2 percent; correct.


MR. RODGER:  What distinguishes your conclusions from the other experts' conclusions, is it solely based that you have also relied on the US data?  Is that how you get the 30 percent premium?


MS. McSHANE:  No.  That's certainly part of it, that there are other -- there's another large market in which Canadians invest a significant amount of money which should be taken into account.


But the other part of it is the fact that if you look at the bond return portion of this table, that all of the numbers in the bond return portion are well above what we would expect going forward.


So they overstate the future bond returns.  If you recognize the fundamental change that we've seen in the bond market in Canada, then the market risk premium, measured as stock return over the expected bond return, is much higher.


MR. RODGER:  So is part of the reason, then, for the difference that you're using a different interest rate forecast than the other experts are?


MS. McSHANE:  No.  I'm recognizing that the historic bond returns are not a very good measure of what bond returns that investors would expect going forward.


What we're trying to establish is what the forward-looking market risk premium is.  Yes, we have reference to the past, but with due recognition to what changes have occurred.


MR. RODGER:  Okay, thank you very much.  Those are my questions, Mr. Chairman.


MR. KAISER:  Thank you, Mr. Rodger.  We will take the lunch break at this point and come back in an hour.


--- Luncheon recess taken at 12:26 p.m.


--- Upon resuming at 1:30 p.m.

MR. KAISER:  Please be seated.

Mr. Klippenstein.

MR. PENNY:  Just before we begin, Mr. Chairman, I just wanted to note for the record that we filed answer to undertaking J8.9 today, which was the Watson Wyatt survey which Mr. Faye had asked for.  We gave Mr. Faye a copy because he asked for it and we have provided -- hard copies, that is, to the Board and to Board Staff.  We were not proposing to make a zillion hard copies of this, unless someone wants it, but we are planning to send it to everyone electronically, so everyone will have access to it.

MR. KAISER:  All right.  Thank you.
Cross-examination by Mr. Klippenstein:


MR. KLIPPENSTEIN:  Thank you, Mr. Chair, Members of the Panel.

Good afternoon, Ms. McShane.  

MS. McSHANE:  Good afternoon.

MR. KLIPPENSTEIN:  My name is Murray Klippenstein, representing Pollution Probe, and Ms. McShane and Members of the Board, I have compiled a collection of documents I propose to refer to in cross-examination, and the cross-examination reference book, I think, should have been provided to you and circulated to my friends.

I think it is, for convenience purposes, compiling bits of evidence from the binders, hopefully, that is it helpful, and a few other documents of which notice was given, as I understand it.  So unless my friend objects, I will ask that this be given an exhibit number.

MR. KAISER:  Yes.  Thank you.

MR. BATTISTA:  That will be Exhibit K10.2.  It's the Pollution Probe cross-examination reference book.
EXHIBIT NO. K10.2:  Pollution Probe cross-examination reference book.  


MR. KLIPPENSTEIN:  Thank you.

Ms. McShane, I take it you have a copy of that reference book?

MS. McSHANE:  I do, thank you.

MR. KLIPPENSTEIN:  If you could turn, please, to tab 1 of that book, and tab 1 is a table on OPG cost of capital, prepared by Pollution Probe to pull together some figures from the evidence.  And there are four tables, the last two of which, on page 1 and 2, purport to relate to your evidence.  Do you see that?

MS. McSHANE:  I do.

MR. KLIPPENSTEIN:  And the first table relating to your numbers at the bottom of page 1 of that exhibit is entitled, "Scenario number 1, assuming a 25 percent fixed charge for nuclear assets."

And the second table is entitled, "Scenario number 2, assuming no fixed charge for nuclear assets."

Do you see those two?

MS. McSHANE:  I do.

MR. KLIPPENSTEIN:  Can you tell me if we have correctly and accurately pulled together the numbers from your evidence for the various topics mentioned in those two tables?

MS. McSHANE:  Can I have one second?

MR. KLIPPENSTEIN:  Yes.

MS. McSHANE:  Well, I would say that if I had been going to put together this table from the IR responses, under scenario 1, "OPG nuclear," I would have put 60 percent equity and under return on equity, 11 to 11 and a half.  Because ultimately what I did was I -- it's not incorrect, in the sense that when I went through this analysis, I did say the results would be 65 to 75 percent equity, but that's too high, so I would make the adjustment partially in the equity ratio, partially in the ROE.

So the result was 60 percent equity, 11 and a quarter percent ROE.

Then on scenario 2, when you look at the line that says "OPG nuclear" and it says "60, 11 and a half to 12" I mean that is basically, then, consistent with the change that I just made to the prior table.  And the return on equity for 2009 in scenario 2 would be the same as 2008.

MR. KLIPPENSTEIN:  All right.

Just so I understand for scenario 1, the line "OPG nuclear," the figures we've given in the table are not incorrect, I think you said --

MS. McSHANE:  Well, they're at a certain point in the analysis.  They're just not the end point.

MR. KLIPPENSTEIN:  Okay.  So the end point is 60 percent equity, and a return on equity of 11 to 11-1/2?

MS. McSHANE:  Yes.

MR. KLIPPENSTEIN:  Can you tell me why you took that next step to the end point in your analysis?

MS. McSHANE:  Because the -- as the IR, interrogatory that you -- you've got these referenced interrogatories on page 2 of the document, and if you go to Exhibit L, tab 12, schedule 2, page 3 of 3, and it says:

"The combination of the two approaches -–"

to assess the nuclear and hydroelectric capital structures and ROEs,
"-- while they are based on a number of assumptions and are subject to significant judgment, produce a range of results that are not unreasonable, that is a range of common equity ratios of 45 to 50 for hydroelectric, 65 to 75 for the nuclear operations at 10-1/2, but the 10 and a half benchmark ROE."

And then it says:

"In Ms. McShane's view, the range of indicated equity ratios for the hydroelectric operations in conjunction with the benchmark ROEs is reasonable."

And then it says:

"With regard to the nuclear operations, an equity ratio of 65 to 75 percent, while common for unregulated companies, may be considered higher than necessary for a regulated business, even one with the risk faced by the nuclear operations.  If the OEB were to deem separate costs of capital for the nuclear and hydroelectric businesses, the upper end of the range of common equity ratios for the total prescribed assets, 60 percent, would be reasonable, combined with an ROE in the approximate range of 11 to 11-1/2 percent, assuming that the fixed payment is approved."

So that sort of explains why I went the next step.

MR. KLIPPENSTEIN:  Okay.  Thank you.

Why is there no difference, in your judgment, between scenario 1 and scenario 2, with respect to that 60 percent equity, and 11 and 11 and a half ROE for the two scenarios which assume a fixed charge or assume no fixed charge?

MS. McSHANE:  Could you say that again?

MR. KLIPPENSTEIN:  Yes.  As I understand it, your suggested preference now for scenario 1, contrary to this table, is for the OPG nuclear line, an equity percentage of 60 percent and an ROE of 11 to 11 and a half.  Have I got that right so far?

MS. McSHANE:  Yes.

MR. KLIPPENSTEIN:  And that is the same as for scenario 2, which assumes no fixed charge for nuclear assets.

MS. McSHANE:  No, it isn't.

MR. KLIPPENSTEIN:  Sorry.  You're right.  It is close.  It's a slight difference in the ROE figure.  Is that right?


MS. McSHANE:  Yes.


MR. KLIPPENSTEIN:  Okay.


MS. McSHANE:  Which all was explained in response to interrogatory Exhibit L12, tab 12, schedule 1.


MR. KLIPPENSTEIN:  Okay, thank you.


Now, going back to the scenario 1 table, we just looked at the nuclear line.  Let me switch to the hydro line, and the figures there are 45 percent to 50 percent and ROE of 10.5 percent.


I take it, then, those numbers would need to change in accordance with the change that we've just discussed, or no?


MS. McSHANE:  There's no need for any change in those.


MR. KLIPPENSTEIN:  Okay.  Similar question with respect to the OPG total line.  Would there be any consequence or changes to that line, the numbers in that line, or are those still the same?


MS. McSHANE:  Are we speaking of scenario 1?


MR. KLIPPENSTEIN:  Yes.


MS. McSHANE:  Well, the scenario total is the recommendation that I made initially for the prescribed assets, which did assume the 25 percent fixed charge.  So there's no reason to change that at all.


MR. KLIPPENSTEIN:  Okay.  So just to make sure I understand, then, the OPG total line, the equity percentage of 55 and 60 percent and the ROE of 10.5 percent, would still be your position?


MS. McSHANE:  Yes.


MR. KLIPPENSTEIN:  Okay, thank you.


Now, the results of that is that your -- in your view, on a stand-alone basis, in other words not for OPG as a whole but on a stand-alone basis, the nuclear assets would have a higher cost of capital than the hydroelectric assets; is that right?


MS. McSHANE:  They're a higher risk than the hydroelectric, yes.


MR. KLIPPENSTEIN:  Okay.  As I believe you are aware, OPG is proposing separate and distinct charges per megawatt hour for its hydroelectric and nuclear electricity supplies; is that right?


MS. McSHANE:  That's correct.


MR. KLIPPENSTEIN:  It is our -- Pollution Probe's understanding that OPG is proposing separate charges for these two sources of supply, because they have different costs of production.


However, Pollution Probe, I think, believes that OPG's costing analysis is based on the perhaps implicit assumption that its hydro and nuclear assets have identical costs of capital.  Is that your understanding, as well?


MS. McSHANE:  No.  I think that the assumption is that the cost of capital that would apply to the prescribed assets is a composite of the risks of the prescribed assets.


MR. KLIPPENSTEIN:  And that it's the same for both?


MS. McSHANE:  No, the cost of equity is not -- or the cost of capital is not identical for both.  It's like any utility.  It's a composite of the risks of the assets that are being regulated.  So, for example, if we had an electric utility that was a vertically integrated electric utility which was generation, transmission and distribution, implicitly there are three separate risk profiles for the three functions, but they're operated as a single operation, and so there's one cost of capital that's applied to all of the rates.


MR. KLIPPENSTEIN:  Okay, thank you.


It may be Pollution Probe's recommendation, eventually, that for the purposes of cost allocation and rate design, that the Board should approve separate and distinct capital structures and/or ROEs for OPG's nuclear and hydroelectric business.  Do you understand the scenario I am describing?


MS. McSHANE:  I think so.  It sounds fairly straightforward.


MR. KLIPPENSTEIN:  Let me just ask what might follow applying your numbers to that scenario.


Supposing the Board would approve that cost allocation and rate design proposal, and your recommendation from the tables here with respect to the capital structure and ROE for OPG as a whole; namely, a 10.5 percent ROE and take the midpoint of 57.5 percent.  Have you got that step in my scenario --


MS. McSHANE:  Sorry, what are we doing?  We're doing the revenue requirement?


MR. KLIPPENSTEIN:  Cost allocation and rate design.


MS. McSHANE:  Oh we're past revenue requirement?


MR. KLIPPENSTEIN:  Yes.


MS. McSHANE:  Okay.  So we have the revenue requirement.


MR. KLIPPENSTEIN:  Just to be clear, I am assuming the Board, for purposes of my question, would approve Pollution Probe's potential cost allocation and rate design proposal that I mentioned before, and then combining that with your recommendation as to capital structure; namely, 57.5 percent equity for OPG as a whole and ROE of 10.5 percent.  Have you got that?


MS. McSHANE:  Yes.  Except I don't know exactly what your proposal is for cost allocation and rate design, but...


MR. KLIPPENSTEIN:  My proposal for purposes of the question is that there would be separate and distinct capital structures and ROEs for the nuclear and hydroelectric.


MS. McSHANE:  Okay.


MR. KLIPPENSTEIN:  Okay?


MS. McSHANE:  So all we're doing for this purpose, then, is assigning numbers that came out of these interrogatory responses to the two different types of generation?


MR. KLIPPENSTEIN:  Yes, yes.


Under that scenario, do you have a view on what the capital structure and ROE, should the Board -- should the Board approve, for, first of all, the hydroelectric assets for cost allocation and rate design?


MS. McSHANE:  Well, my view was that for purposes of the regulated payments, that we would use one capital structure and one ROE for both hydroelectric and nuclear, and then I was asked if, forced to do so, what --


MR. KLIPPENSTEIN:  We don't want to force you to do anything.  I'm asking you very politely.


MS. McSHANE:  -- what would be my best estimate of stand-alone capital structures and ROEs, and I did the best I could with the information that was available, limited as it was.  And so the answers would be, if the Board were insistent on applying different capital structures and ROEs, the answers would be those that are listed in scenario 1, assuming the fixed charge is approved.


MR. KLIPPENSTEIN:  And scenario 1 adjusted, as we started out, for the -- to switch 55 to 60 to 60?


MS. McSHANE:  Correct.


MR. KLIPPENSTEIN:  And so on.  Okay, thank you.


MR. RUPERT:  Mr. Klippenstein, before you go to scenario 2, can I just ask Ms. McShane, the numbers for nuclear as you have, and hydro capital structure as you have amended them this afternoon, did you do each of those -- did you think about each of those assets on a stand-alone basis, such that the sum of those two might not come up to the dollar amount of return on equity that you get from your combined 55 to 60 percent equity, 10-1/2 percent ROE?


MS. McSHANE:  Actually, no.


MR. RUPERT:  That's fine.  You don't have to give the details.  So what -- I mean, leaving aside the vagaries of calculations, the intent was to say:  What is the dollar amount of ROE that results from your recommendation, which is a single approach, and then let's cut that same -- the same dollar amount would result by doing two separate pieces with the different ratios and different ROEs, but that we should say that would just be carving up a pie into two pieces.  It wouldn't be changing the size of the pie?


MS. McSHANE:  That's right.  The way I did this was -- I basically started two ways.

First, I said let's -- this is what I think my best assessment is of the overall cost of capital.  So when I was asked the question:  What would you do if you had to come up with separate capital structures and ROEs for the separate types of generation, I have a lot more data, market data on companies with nuclear exposure, so I used those data to try to assess what the cost of capital for nuclear would be.

Then I, basically, I compared that to what I arrived at for hydroelectric and said:  This would imply this capital structure if the two were basically a weighted average, asked myself the question:  Is the result for hydroelectric reasonable?

MR. RUPERT:  Okay, I understand.

MS. McSHANE:  So then I did it the other way, so I came up with a range on both types of generation.

MR. RUPERT:  Thanks.  Sorry, Mr. Klippenstein.

MR. KLIPPENSTEIN:  Thank you.

When you say you did it the other way, you meant, did you mean you did it, you approached it now from the other angle of, in other words, from the non-nuclear first?

MS. McSHANE:  Starting with the hydroelectric, my best estimate of what the hydroelectric would be, based on its relative risk, and then, again, is that consistent with the overall cost of capital and the implied cost of capital for the nuclear operations.

MR. KLIPPENSTEIN:  Were the two results pretty similar, approaching it from the two starting points?

MS. McSHANE:  Well, I think, if you look at the response to tab L, schedule 2, page 3 of 3, that will give you a good sense of how close they were.

In the first instance, where I started with nuclear, the result for nuclear on a stand-alone basis was about -- I've lost it.

Excuse me one second.

So it was about 10-1/2 percent ROE at 65 percent equity.  Then on -- starting with the regulated hydroelectric, the indicated capital structure common equity ratio for nuclear was 75 percent, at the benchmark ROE of -- so they're fairly close.  Within the context of how accurate you can be given the limitations of the data to start with, I'd say they were relatively close.

MR. KLIPPENSTEIN:  Okay, thank you.

I would like to move to the next table, now, which is scenario number 2 on the chart "OPG cost of capital".

That shows your recommended capital structure and ROE for OPG, assuming the OEB does not approve the proposed 25 percent nuclear fixed charge, right?

MS. McSHANE:  Yes.

MR. KLIPPENSTEIN:  Then I would like to ask the same set of questions as I just did for table 1.  If you assume the Board approves the possible Pollution Probe idea of -- with respect to cost allocation and rate design, would this be your recommendation looking first at the nuclear assets?

MS. McSHANE:  This would be the best estimate I could come up with, with the relatively limited data available.

MR. KLIPPENSTEIN:  And for the next line, or rather the hydroelectric assets, again, does this show your recommended capital structure and ROE if the Board were to approve the separate costs for cost allocation and rate design purposes?

MS. McSHANE:  There is –- you'd put scenario 2 for hydroelectric?

MR. KLIPPENSTEIN:  Yes.

MS. McSHANE:  There is nothing on the line. 

MR. KLIPPENSTEIN:  Sorry, is my question not clear?  Should I repeat it?

MS. McSHANE:  Just ask me the question again, if you wouldn't mind.  We're on scenario 2, looking at the table?

MR. KLIPPENSTEIN:  Yes, yes.

MS. McSHANE:  And I thought you asked me about the question about the hydroelectric numbers?

MR. KLIPPENSTEIN:  That's correct.  Those numbers, now, assuming the Board approves Pollution Probe's suggestion about cost allocation and rate design.  Are those numbers in the chart what would be applicable?

MS. McSHANE:  I guess my point is that if you look at the chart on page 2, there are no numbers in the chart under hydroelectric.

MR. KLIPPENSTEIN:  Can you fill in the blanks?

MS. McSHANE:  Well, I mean, the fixed charge applies to nuclear assets and to nuclear assets only.

So if you were going to fill in the chart from the information that was provided in the interrogatories, the numbers that were in scenario 1, there was no reason to assume those would change.

So those would be the same as in scenario 2 as in scenario 1.

MR. KLIPPENSTEIN:  Now, if you could please turn to the first two tables in that chart on the OPG cost of capital, the first two tables are an attempt to show Doctors Kryzanowski and Roberts' recommendations first for scenario 1, which assumes a 25 percent fixed charge for nuclear assets, and scenario 2, which assumes no such fixed charge.

Their proposed aggregate cost of capital structure for OPG as a whole is a weighted average of their proposed capital structures for the nuclear and hydroelectric assets on a stand-alone basis.

Would you see anything wrong with Doctors Kryzanowski and Roberts' recommendations for the stand-alone cost of capital for the hydroelectric assets?

MS. McSHANE:  Do I see anything wrong with it?

MR. KLIPPENSTEIN:  Yes.

MS. McSHANE:  Are you asking me if I see anything wrong with it, as in it's not --

MR. KLIPPENSTEIN:  Would you disagree with it?

MS. McSHANE:  Yes.  Sorry.  Obviously, you know, my results are for a common equity ratio higher, and a higher ROE, so, yes, I would disagree with it.

MR. KLIPPENSTEIN:  Can you explain why?

MS. McSHANE:  Can I explain why?  Because in my view, a 40 percent common equity ratio is too low for generation assets, based on the business risks of generation versus either wires utilities or vertically integrated utilities.  It's insufficient for an A rating for hydroelectric assets and the ROE is just too low.  It just doesn't meet the comparable return standard.

MR. KLIPPENSTEIN:  Thank you.  I have basically the same question now with respect to the nuclear assets line.  It may or may not be the same as the answer you just gave me.  In other words, do you think that their recommendations with respect to the stand-alone cost of capital for the nuclear assets are wrong?  If so, why?

MS. McSHANE:  Well, the same -- definitely the same answer in terms of the ROE, which, if we look at how conceptually Drs. Kryzanowski and Roberts are estimating this cost versus what I'm doing, I think that conceptually we're doing the same type of thing, in the sense that we're trying to assess the return -- the fair return for an average risk, what would be considered an average risk utility, and making any -- making any changes for differences in business risk between OPG and an average risk utility in capital structure.


So, conceptually, I would say that their 7.25, for example, for 2009 is trying to get at the same thing as my 10-1/2.  It is just we get there differently, and I think my number is obviously superior to theirs.


As far as the equity ratio is concerned, I would say the same thing as I did with respect to hydroelectric, except that I would add to that that I don't believe that the 50 percent common equity ratio that Drs. Kryzanowski and Roberts have assigned to nuclear at all appropriately captures the production and operating risk.


MR. KLIPPENSTEIN:  Okay, thank you.


Leaving those tables for now, if you could turn in the Pollution Probe book to tab 2, that refers to Pollution Probe Interrogatory No. 47 and, in particular, about variance accounts and fuel price risk.


If you turn your attention to your answer with respect to volatility in uranium prices, the question was referring to your evidence, which says:  

"Given the significant volatility in uranium prices, which is not predictable and beyond management control, OPG is requesting a variance account to record variances between forecast and actual uranium costs.  The proposed variance account would cover the preponderance of OPG's fuel price risk."


When you say "preponderance", that suggests to me that you see some risk that remains, despite the proposed variance account.


Can you identify and explain any such risk, if my understanding is correct of your position?


MS. McSHANE:  It's in the response.


MR. KLIPPENSTEIN:  Oh, sorry, yes.  You gave the answer.  Thank you.  There it is.


You talk about differences in periods, and so forth.  Would you agree that the variance account would mitigate the majority of the risk?


MS. McSHANE:  Since the citation from the testimony said the proposed variance account would cover the preponderance of OPG's fuel price risk, the answer is yes.


MR. KLIPPENSTEIN:  So that's true, I guess.  So I have understood your evidence correctly?


MS. McSHANE:  Yes.


MR. KLIPPENSTEIN:  Thank you.


If you turn to tab 3, please?


MS. McSHANE:  Sorry, I actually don't have tabs per se.  I have...


MR. KLIPPENSTEIN:  I'm sorry.


MS. McSHANE:  I actually have different page numbers.


MR. KLIPPENSTEIN:  I will use the page numbers for the reference book.


MS. McSHANE:  Oh, they're going to give me a better copy.  Thank you.


MR. KLIPPENSTEIN:  Thank you for that.


My friend, Mr. Penny, had provided a copy that has all of the wrong page numbers.


If you could turn, Ms. McShane, to tab 3?


MS. McSHANE:  Yes.


MR. KLIPPENSTEIN:  Which is Pollution Probe Interrogatory No. 49, and the interrogatory in this second or third paragraph notes that on page 63 your evidence says:  

"On balance I view the regulatory risk for OPG as higher than that of the typical regulated utility in Canada and in Ontario."


And we asked for some explanation, and you talk about the application of cost-of-service regulation to generation being a relatively unique phenomenon, and so on.


Now, somewhat similar to what one of my friends asked, I take it you would accept that -- or let me rephrase that.


Are you suggesting that there is a significant risk that the Board will fail to regulate competently or fairly on this question?


MS. McSHANE:  No.  That wasn't my suggestion, at all.


My suggestion was that the market model can change and market rules can change, and we simply don't know what the -- how cost-of-service regulation is going to work within the hybrid market yet and whether there may be a change in the model at some point.  


We have, you know, significant cost pressures that may be arising.  A couple of those were mentioned in this answer.  How are those going to be dealt with, in terms of setting prices that will simultaneously provide for recovery and provide for OPG to participate in the market?


MR. KLIPPENSTEIN:  You have identified a number of factors.  You said you're not suggesting that the Board will fail to regulate competently or fairly.


Now, the factors you have mentioned in a general way, and you mentioned we don't know how it is going to work; there might be some changes to the rules.  Can you be more specific about that?  Because I'm trying to get a sense of on what basis you would judge that risk.


MS. McSHANE:  On what -- what do you mean "on what basis"?


MR. KLIPPENSTEIN:  You said that we don't know how it's going to work, but how big a concern really is that?  Can you give me some specifics about something we don't know that could make a big difference?


MS. McSHANE:  Well, I think you could make a big difference if there are significant increases in costs that are difficult to recover in market prices because of the trend in market prices.


MR. KLIPPENSTEIN:  Give me an example.


MS. McSHANE:  Of costs?


MR. KLIPPENSTEIN:  Of what you just mentioned.


MS. McSHANE:  Of the costs?


MR. KLIPPENSTEIN:  Yes.


MS. McSHANE:  Well, I mentioned some of these here.  We have decommissioning costs, post retirement benefit costs, all of which could increase significantly.


MR. KAISER:  Ms. McShane, is this back to the point that the government might intervene and tell the Board not to apply standard cost-of-service regulation?


MS. McSHANE:  No.  This is really more the idea that in a semi-competitive market, there is more price pressure than there is in a fully regulated market where there's monopoly service, and it's more a question of whether or not there will be -- that rates can be set in such a way as to allow the recovery of costs and still be able to participate in the market, however that market may be -- may have evolved in a number of years.

MR. KAISER:  But there could be exceptional cost pressures that any LDC, any electric LDC faces, by way of example, and they would attempt to pass on those costs as all regulated utilities do.  That could be the case for OPG.

What makes you think that the Board would apply a different standard?

MS. McSHANE:  I don't think it would apply a different standard.  It's just a question of whether or not the same standard would work.  I'm not suggesting that the Board would apply different criteria, but the situation is different when dealing with a company that basically faces no competition, versus a company that is operating in a market that is evolving towards a more competitive market.

MR. KLIPPENSTEIN:  Can I ask, again, for an example, because this is regulatory risk we're talking about, and it's about the Board applying long -- recognized and long practiced principles.


Why would -- can you give me a specific example of a change that would be brought about by the competition that would result in a regulatory risk?

MS. McSHANE:  Well, it may result in having to defer costs, just to be competitive, that other companies might be able to recover immediately, to balance cost recovery and competitiveness.

MR. KLIPPENSTEIN:  Can you give me a specific example?

MS. McSHANE:  Well, I can give you an example of -- you mean a cost or an example of a scenario?

MR. KAISER:  Give us either, or both.

MS. McSHANE:  Well, all right.  Suppose, for example, that the CNSC imposed significantly higher standards of safety, and those required an incurrence of costs which --

MR. KAISER:  You mean different standards for OPG compared to, say --

MS. McSHANE:  No, no, sorry.  Higher standards than exist today.


MR. KLIPPENSTEIN:  For everyone in the industry.

MS. McSHANE:  For everyone, but they would only apply to nuclear assets.  So additional costs would have to be incurred that would put pressure on rates and there may be a need to defer some of those costs for a period of time to avoid increasing rates for a long period of time.

MR. KAISER:  So would that be the Board departing from standard cost-of-service principles?  Or are you talking about the government intervening and telling the Board not to pass on those costs?

MS. McSHANE:  No.  Neither.  It's just a question --regulation is what determines the recovery model, and I guess I just viewed that as, it's not a political risk by any stretch of the imagination.  It is a question of having to -- maybe amend is not the right word -- but adjust the regulatory approach to take account of the special circumstances of OPG.

MR. RUPERT:  Well, we see in your example that OPG would be a greater risk, and this Board would -- OPG would be at greater risk by virtue of being regulated than Bruce Power would be, by virtue of having government contracts plus spot market participation.  So it would be easier for Bruce Power to absorb this than OPG, because OPG is regulated; is that what you are saying?

MS. McSHANE:  No. I am saying it is more difficult for OPG than other types of utilities.  I wasn't comparing OPG to Bruce.

MR. RUPERT:  I was just comparing it to the only company that had the same problem that you just raised.

MS. McSHANE:  No.  But it doesn't -- Bruce wouldn't have any less problem, obviously.

MR. RUPERT:  The question is:  Are you saying, though, that by virtue of being regulated, OPG would have more risk as a result of that kind of occurrence than -- and more difficulty in recovering funds than Bruce would have?

MS. McSHANE:  No.  I'm saying more difficulty than other utilities not in the generation business, which don't face the same -- I mean, OPG isn't dealing with other types of generation, as well, so --

MS. CHAPLIN:  Ms. McShane, would it be fair to say if is not really a regulatory risk?  It's a business risk?  Because you're saying that OPG faces different competitive pressures than other regulated entities, and in that case, doesn't the regulatory model seek to mitigate those increased risks?

MS. McSHANE:  Well, I mean that's true for any regulated utility, that you take the set of business risks and the regulatory model frames them.

So it can mitigate them or not.

So perhaps this could have been couched in terms of a business risk, but it's affected by the regulatory approach, just with any other utility whose fundamental business risks are, again, framed or mitigated, sometimes increased by the regulatory model.

MS. CHAPLIN:  Thank you.

MR. RUPERT:  Not to interrupt Mr. Klippenstein thoroughly, but for one last quick question.  Your example in the paragraph he's referring you to has two examples at the end of that paragraph, and the first one is decommissioning costs.

I thought the decommissioning costs question was dealt with fairly completely by the government in regulation 53/05, which to paraphrase it, essentially said that whatever happens to OPG's nuclear decommissioning costs with new reference plans and increased costs, the Board had to ensure that those costs were recovered.  Like there's not going to be, as I read that part of the regulation, any discretion on the part of this Board with respect to those kinds of costs with the regulation.

Is that what you're referring to, or are you referring to something different?

MS. McSHANE:  When you say there is no discretion, I'm not going to legally try to interpret the regulation, but what I understand is that the Board has to provide the basis for recovery of the costs.  So there's a deferral account that rolls over, changes in the references plan.  But I don't know that that says that the Board has to specifically say when they're going to be recovered, just that they have to provide the basis for recovery.

MR. RUPERT:  Oh, you're just talking about a timing issue.  Okay.

MS. McSHANE:  Of course, you know, at the end of the day, when we're all dead, we don't know how large those costs will be and who will be there to recover them from, in any event.

MR. KAISER:  So, to use a specific, if we had a deferral account, say, for fuel costs, and lots of utilities that appear before us have deferral accounts.  Gas utilities have dozens of them.

MS. McSHANE:  Right.

MR. KAISER:  And this utility is proposing some, and they track the difference between forecasted and actual and there's a settlement up at the end of the day.

MS. McSHANE:  Yes.

MR. KAISER:  The accounts are cleared.

MS. McSHANE:  Yes.  It depends on how long that is going to be.

MR. KAISER:  Right.  I know you say here, and this is on Mr. Klippenstein's Interrogatory No. 49, you point to the fact that cost-of-service regulation is relatively unique to, it is new to OPG.  There is no track record.

So to use my example, we know how the Board deals with deferral accounts in gas utilities and electric LDCs.  We have them.  There's a track record.  Are you saying we don't know what they will do when it comes to OPG?  They may depart from their standard practice with respect to these deferral accounts, which admittedly reduce risk.  That's why they're there.


MS. McSHANE:  Right.


MR. KAISER:  Would that be an example of your concern, of the regulatory risk?


MS. McSHANE:  No.  I think I was more concerned with the whole idea of the regulatory model fitting OPG's circumstances, not so much -- although, to be frank, I mean, we don't know exactly, you know, how the Board will deal with specific elements of OPG's application.  


But from my own perspective, when assessing the cost of capital, it seems a bit perverse, if you will, to assume that the Board is going to do something that the company doesn't like.


I mean, it doesn't make any sense to say, Well, we want compensation for the risk that the Board might do poorly by us.


MR. KAISER:  So you're not saying they're entitled to -- there's greater risk as a result of your -- I'm still confused what you're asking for.  Are you saying there is a greater risk as a result of the regulatory process as it would apply to OPG than the other utilities the Board regulates?


MS. McSHANE:  Yes, just because it is such a different animal, and with such different --


MR. KAISER:  What's different about it, in terms of passing through the costs?  What's different about cost-of-service regulation for OPG versus the other utilities?  We've got 85 gas utilities, three gas companies, 40 years of experience in one, ten-plus years of experience in the other.  What's different?


MS. McSHANE:  Well, for --


MR. KAISER:  Outside of the fact that this is the first time we've done OPG.  But what is generically different in the regulatory process here?


MS. McSHANE:  The different types of costs, the --


MR. KAISER:  You mean because we don't have uranium costs in an electricity LDC and, instead, we have gas costs?  Is that the difference?


MS. McSHANE:  No.  I think it really revolves around the costs related to the nuclear assets, the treatment of the decommissioning costs.  But, again, I still think that there is something to be said for the idea that we're trying to set a regulated price for a company that is going to operate primarily in a competitive market.


MR. KAISER:  But how many times can we count decommissioning costs?  We understand you say there is a higher risk for nuclear, and you cited decommissioning costs.  We're now talking, I thought, about some form of regulatory risk.


Is that just back to decommissioning costs?  Is it that you don't have confidence that we're going to regulate this utility the way we do the others?  Is it that you think the government will intervene and do something crazy?  


What's the difference?


MS. McSHANE:  I don't know if I can explain it any better than I have.


MR. KAISER:  Well, you say "costs".  They have labour costs.  All utilities have labour costs.


MS. McSHANE:  Right.  But utilities that operate in  monopoly situations don't face the same kind of competitive caps, I guess, on -- that a utility or a regulated company operating in a competitive environment would.


MR. KAISER:  When you say competitive caps, you mean caps on their input prices?


MS. McSHANE:  Caps on -- yes.  In other words, it would take a significant amount of increase to have customers switch from one service to another.  So if you're an electric transmission company, what are your options as a consumer?  You don't have any options.


MR. KAISER:  Well, are you -- there's two aspects to this.  One is that Enbridge somehow has greater control over its costs than OPG, but Enbridge buys gas on the open market.  It buys labour on the open market.  Yes, they have a franchise.  Yes, nobody can come in and take their customers.


So is it that you're concerned that somebody is going to take OPG's customers because they don't have a franchise?


MS. McSHANE:  Well, that's certainly --


MR. KAISER:  Who would those competitors be that would take OPG's customers?


MS. McSHANE:  Well, that's -- to me, that's -- I mean, that's not the biggest risk, by any stretch of the imagination.


MR. KAISER:  What is?


MS. McSHANE:  Well, to me, the biggest risks for OPG are the production risk, the operating risk on the nuclear, the decommissioning liability recovery risk, and, thirdly, the fact that there aren't any real monopoly operations.


So those, to me, are the big items in terms of what makes OPG riskier than...


R. KAISER:  All right.  Thank you.


MR. RUPERT:  Just one last one -- sorry, Mr. Klippenstein.  You might want to, Ms. McShane, later on at the break, or something, have a look at the regulation on decommissioning costs, because I think it is probably more restrictive both as to amounts and timing of recovery than you might have suggested.


The other example -- let me just try that one out.  You give two examples, and let's just have a real, I suppose, as close to an apples-to-apples comparison as we can get, Hydro One versus OPG.  Hydro One fits that wires company, quasi-monopoly structure.  Both companies, I believe, have substantial pension and post retirement benefit obligations and expenses.


Are you able to suggest to through this paragraph that OPG's risk, with respect to recovery of future increases and other post employment benefits, is higher than the risk for Hydro One?


MS. McSHANE:  All I was saying here was that because of OPG's operation in a different kind of marketplace, that the potential increase in these costs and -- and the impact on prices was of more concern than it would be to a company that's fully monopolized.


MR. RUPERT:  The prices have been set in this room here.  They're not being set in the market.


MS. McSHANE:  The costs.


MR. RUPERT:  The prices for OPG's output.


MS. McSHANE:  Right, true.  But you still have to operate in the market where there are market prices.


MR. RUPERT:  I don't follow that.  Maybe we will come back to it later.  I'm sorry, Mr. Klippenstein, if you could continue.


MR. KLIPPENSTEIN:  Thank you.  That has been clarified.


I would like to turn, Ms. McShane, to a topic about capital structure and bond rating.  If you would turn, please, to tab 4 of the Pollution Probe document book.  On that page is Pollution Probe Interrogatory No. 54.  That refers to several companies in the second half of the first paragraph of the interrogatory.


You refer to six additional companies that are rated below A by at least one bond rating agency:  EPCOR, Newfoundland Power, Nova Scotia Power, Pacific Northern Gas, Union Gas and Westcoast Energy.  


We asked for evidence about difficulties being experienced by those companies with respect to financing.  Your response says you are not aware of any specific financing issues that the referenced companies, other than Pacific Northern Gas, have faced.


Can I take it from your answer that the majority - that is, five out of those six questions - as far as you know, experienced no difficulties accessing financing?


MS. McSHANE:  I don't know.  Interesting, I was speaking to the chief financial officer at one of the utilities in Alberta recently and he said -- because I was telling him about this question, and he said, Well, you wouldn't know.  You wouldn't know unless you were sitting in our treasury office every day and knew what happened when we went to the market.  And if the investment bankers told us, when we wanted $300 million of debt, that the market wouldn't absorb $300 million worth of debt, or if we wanted to raise $300 million of 30-year debt and we were told that we could only get 10-year debt.

So the example of Pacific Northern Gas is the one that is very much or was very much in the news -- at least the regulatory news -- but other companies, you know, have these market access issues that are just not public.

MR. KLIPPENSTEIN:  So the answer is you don't know?

MS. McSHANE:  I don't know specifically and I explained to you why I wouldn't know.  But we can see obviously on table -- the table there that it's much costlier to raise debt if you're BBB rated, and, in my remarks this morning at the beginning, I noted how small the BBB market really is.

MR. KLIPPENSTEIN:  But whether those factors are of any relevance to -- or any other factors are of any relevance to whether these five companies actually experienced difficulties, you just don't know?  If they did, you don't know?

MS. MCSHANE:  I have not sat with these companies on a daily basis and been involved in their debt financing issues.

MR. KLIPPENSTEIN:  And the result is you don't know?

MS. McSHANE:  I don't know.

MR. KLIPPENSTEIN:  Also, with respect to bond rating, if you could turn to tab 16, which is selections from your evidence, page 101 of your evidence, please?

I have underlined a sentence from your evidence there, which says, quote:

"Both DBRS and S&P have consistently commented on the highly levered nature of Canadian utilities and the low allowed common equity returns relative to their global peers, particularly those in the US."

Now, just some general questions on what we can expect from bond rating companies.

As I understand it, bond rating companies are paid by issuers, right?

MS. McSHANE:  They're paid by issuers and --

MR. KLIPPENSTEIN:  In other words, when a company has a new issue, it has to pay to have it rated, right?

MS. McSHANE:  Yes.  But I don't think that is where they get the majority of their funds from.  I am trying to remember.  There is another source of income for them.

Oh, well I know what it is, of course.  I pay for it.  It's all of the informational services they provide --

MR. KLIPPENSTEIN:  Okay.

MS. McSHANE:  -- to subscribers.  I think, I believe that that is where they get most of their money.  They sure get a lot from me.

MR. KLIPPENSTEIN:  So just to follow up on that, so as far as you know, they do derive some revenue from issuers, because in order to be rated, a company has to pay.  Right?

MS. McSHANE:  I believe that that's right.  Well, it's not entirely true.  I mean S&P, for example, does do issues -- they do ratings for companies that they don't have, I'll call it a relationship with.

MR. KLIPPENSTEIN:  Okay.  That might be.  But do 
you -- just going back to simplify things.  As far as you know, despite what you've said, that in many cases a company with a new issue has to pay to have it rated, right?

MS. McSHANE:  Yes.

MR. KLIPPENSTEIN:  Do you have any sense of how large a proportion of their, the rating company's revenue comes from fees for rating an issue?

MS. McSHANE:  As opposed to fees from subscriptions?  No, I don't.

MR. KLIPPENSTEIN:  Anything else.  You don't know whether it is 5 percent or 9 percent?

MS. McSHANE:  I have never -- that's an issue I have never looked at.

MR. KLIPPENSTEIN:  Okay.  Taking for the moment that there is some proportion of their revenues that comes from the companies they rate, do you see a potential conflict of interest between the interests of the class of users who are the bond issuers, who are paying the company to rate their issues, and the investors who want the information?

MS. McSHANE:  I suppose there could be a potential conflict of interest, but I know, for a fact, that when utilities in Canada, for example, go to visit S&P or DBRS and they make presentations and they go through their information, and the debt rating agencies do drafts of their rating reports and they send out the drafts for the company to correct errors in fact, they do not make any changes because the company doesn't like what they had to say.

MR. KLIPPENSTEIN:  That specific example you used may be the case, but it may not cover the whole picture.

If the rating agencies derive 60 or 70 percent of their revenue from the companies they rate, would you agree with me that there is potential, significant potential for that to influence their views?

MS. McSHANE:  I would say that the potential is offset, any potential is offset by the fact that ultimately the decision about how risky a bond is, is going to be determined by the investors and what the investors are willing to pay for it.

So if you've got, you know, pension fund managers who are relatively sophisticated investors, I can't see them standing by and just allowing ratings reports to come out that are systematically misstating or understating the risks that are inherent in the issues.

MR. KLIPPENSTEIN:  But isn't that just what happened on a huge scale in the last few years with respect to a lot of the turmoil in the world markets and the securitization of debt?  The bond rating companies got it all wrong.

MS. McSHANE:  But that's a different issue.  I mean they may have gotten it wrong for these particular types of securities, but I mean my understanding was it is because they basically didn't understand them, not that there was anything untoward about what they were doing.

They were very -- my understanding was they were relatively complex types of securities that the rating agencies got wrong. 

I mean, but they're been, you know, the rating agencies have been looking at utilities for years and years and years, and I don't see any evidence that the debt rating agencies have a fundamental misunderstanding of how utilities operate, what their risks are, what their financial metrics ought to look like.  I think that is a totally different situation.

MR. KLIPPENSTEIN:  You do place a fair bit of emphasis on the views of rating agencies, and to go back to a question I asked before, when I asked whether you saw a significant of potential for conflict of interest if the bond -- if the rating companies got, let's, say 60 or 70, or thereabouts, percent of their revenue from the companies they rate, you said you didn't see a possibility of them systematically misstating the...


MS. McSHANE:  I guess what I was trying to say is I thought there were enough controls in place to -- even if that were true -- and I am not convinced that they get that much of their revenue from issuers.


MR. KLIPPENSTEIN:  I take it you have never actually checked or looked at how much revenue they get from...


MS. McSHANE:  I remember sitting through a cross-examination once where that question was asked, and there's a vague memory in my mind that it wasn't anywhere close to that, but I don't know for a fact.


MR. KLIPPENSTEIN:  Isn't that -- given the reliance you place on these, isn't that something you would want to know a bit about?


MS. McSHANE:  The rating agencies are relied on by companies over the world.  I didn't particularly think there was a reason I needed to know how much money they got from one service versus the other.


MR. KLIPPENSTEIN:  Okay.


With respect to the effects in North America and worldwide in the recent sub-prime mortgage issues, would you agree with me that the rating agencies underestimated the risk of many mortgage-backed securities, and did so on a large scale?


MS. McSHANE:  That's what I said in response to Exhibit L12, schedule 55.


MR. KLIPPENSTEIN:  Would you agree that essentially the outsourcing of credit assessment to the rating agencies played a major role in the recent global financial turmoil related to mortgages?


MS. McSHANE:  It did, yes, in that particular instance.


MR. KLIPPENSTEIN:  And are you suggesting that there is no connection between that and possible concerns about rating companies' judgments with respect to utilities?


MS. McSHANE:  I guess I don't see the connection.  This is a business that utility analysts have been dealing with for many, many years.  I don't see any evidence that over the long period of time, if they have been looking at these utilities, that there has been a systematic over- or underestimate of risk.


It's a fairly transparent business model.  There is nothing terribly complex about understanding it, so I don't see why it would be a concern, and clearly all the utility companies in North America still depend very much on the debt rating agencies.


MR. KLIPPENSTEIN:  Well, in the sub-prime sort of issues, bond rating companies got it badly wrong for years, but it eventually caught up with them.


Now, if I look at the rating companies and the -- in the utilities context, and let's say they get it a little bit wrong.  Let's say they tend to argue for higher deemed equity ratios and allowed returns for the utilities, and let's say that happens for years the way it did in sub-prime mortgages issues.


What's going to catch up with them?  What's the correction when the figures are used in regulatory hearings such as this?


How is it going to catch up with them?  Maybe never.


MS. McSHANE:  Well, it would be one thing if the debt rating agencies were alone in this assessment, but they're not.


MR. KLIPPENSTEIN:  What do you mean?


MS. McSHANE:  It's not like the debt rating agencies are the only people out there saying that the returns are too low and the deemed common equities are too low.  So this is not some assessment that sets them apart from other market participants.


MR. KLIPPENSTEIN:  So are you suggesting that it is the -- that it's the other market participants who give the answer, really, not the bond rating companies?  Not the ones --


MS. McSHANE:  No, I'm not saying that.  I'm just saying it is an assessment that is shared by various market participants.


MR. KLIPPENSTEIN:  And in this case here today, what would be an example of what you have just mentioned?


MS. McSHANE:  Excuse me?


MR. KLIPPENSTEIN:  And in the issue before us today, what would be an example of another market participant that shares the values of the rating agency?


MS. McSHANE:  Pension funds, equity analysts.


MR. KLIPPENSTEIN:  Okay.  If you could turn to tab 8 of Pollution Probe's document book, tab 8 on page 16 of the document book, which has Pollution Probe Interrogatory No. 56.


The interrogatory asked you to provide evidence about S&P's business risk ranking scale, that being an accurate measure, and you mentioned that you were not aware of any studies.  You mentioned that it has been used widely by analysts.


If you turn to tab 17 of the reference book, which is excerpts from Drs. Kryzanowski's and Roberts' report, they develop their own business risk ranking methodology at one point, and that is referred to on page 29 of their evidence, page 48 of the reference book.  They benchmarked it against the conclusion of the Alberta Security Commission in its 2003 hearing.


Are you at all familiar with that?


MS. McSHANE:  Am I familiar with their evidence, or am I familiar with the Alberta generic...


MR. KLIPPENSTEIN:  Their evidence.


MS. McSHANE:  Yes.  I have read their evidence.


MR. KLIPPENSTEIN:  Did you have a look at their business risk ranking methodology?


MS. McSHANE:  I did.


MR. KLIPPENSTEIN:  Would you agree that by the metric of studies testing the accuracy of ranking methodologies, the approach used by Drs. Kryzanowski and Roberts has equal standing with that of Standard & Poor's?


MS. McSHANE:  No.


MR. KLIPPENSTEIN:  Why do you say that?


MS. McSHANE:  Because Standard & Poor's, in the first instance, analyzes a whole range of companies globally and has a perspective that includes companies from the bottom end of the range to the top end of the range.

And in the particular -- and they have they have experience at doing this for years and years and years.  This is the first time Doctors Kryzanowski and Roberts have ever used this methodology, they point out.  We asked them some questions about the methodology in order to determine how sensitive it was to assumptions, whether or not it made sense if you included other companies, what constituted a company that was above-average risk.

There's simply no way, based on what we were provided, to judge that.

The other thing that I would say about it is that, there are nine different categories of risk that were -- I believe there were nine -- that were provided.  For all intents and purposes, each and every one of them was given exactly the same weight.  There was no consideration given to whether the particular risk was a large risk and with a high probability, or a low risk with a small probability.  They were all given equal weight.

So I would say that the risk methodology is somewhat lacking.

MR. KLIPPENSTEIN:  Thank you.  If you could turn to tab 16, which is excerpts from your evidence, and to page 89 of your evidence, page 37 of the document book, please?

MS. McSHANE:  Sorry, which tab?

MR. KLIPPENSTEIN:  Tab 16.

MS. McSHANE:  I have that.

MR. KLIPPENSTEIN:  I have highlighted the end of the large paragraph on that page.

MS. McSHANE:  What page are we on?

MR. KLIPPENSTEIN: This is page 89 of your evidence, page 37 of the document book, and I have highlighted the last two sentences in the large first paragraph.

Do you see that?

MS. McSHANE:  The sentences about TransAlta?

MR. KLIPPENSTEIN:  Right.

MS. McSHANE:  Yes, I have that.

MR. KLIPPENSTEIN:  The sentences are about two companies, TransAlta Utilities and TransAlta Corporation.  Is that right?

MS. McSHANE:  Yes.

MR. KLIPPENSTEIN:  And both of them get some or all BBB ratings.  Is that right?

MS. McSHANE:  Yes.

MR. KLIPPENSTEIN:  And TransAlta Corporation, both its ratings are BBB, right?

MS. McSHANE:  Yes.

MR. KLIPPENSTEIN:  And they had a debt-to-equity split of 50 percent.  Is that right?

MS. McSHANE:  Just one second.  Sorry, could you repeat your last question for me?

MR. KLIPPENSTEIN:  I am just referring to the last sentence in your paragraph, which says:

"For a BBB rating, the TransAlta capital structures are indicative of a common equity ratio (based solely on a debt/equity split) of approximately 50 percent for a generating company."

Do you see that?

MS. McSHANE:  Right.  That one company.

MR. KLIPPENSTEIN:  I think you mentioned elsewhere that TransAlta Utilities and TransAlta Corporation would be peers for OPG's regulated operations.  Is that fair?

MS. McSHANE:  Yes.  Well, I said that I believe that TransAlta was the only publicly traded, conventional corporation, as opposed to an income trust, which was solely generation.

So in that sense, it was the most comparable publicly traded stand-alone generation company.

MR. KLIPPENSTEIN:  And it appears, in that case, that 50 percent equity is sufficient for a BBB rating for that company, right?

MS. McSHANE:  Well, yes.  But could I also point out to you, within the material that you provided to me -- and I will have to find the tab here -- yes.  It was tab 5.  Four.  Sorry.  Four, page 5.

Oh, I don't have the number in here.  These are costs for -- on page 6, this little table which shows the cost of raising debt for some different companies, which, the lowest-rated one on here is -- or the lowest-rated one with the highest cost, I guess I should say, is EPCOR utilities which is rated A low and BBB plus, and its spread for a long-term debt issue, over 30-year Canada bonds, was over  -- almost 250 business basis points.

For TransAlta, which is BBB rated, the last time I looked, I think the cost of new 30-year debt was almost 300 basis points above the 30-year Canada.

So, yes, maybe they only need a 50 percent common equity ratio to have a BBB rating, but when they go to the debt markets, they're going to pay 300 basis points for debt, for long-term debt, if they can get it.

MR. KLIPPENSTEIN:  Well, you mentioned if they can get it.  Do you have any evidence that they have had difficulty getting debt, other than what you have just mentioned?

MS. McSHANE:  Well, what I said this morning was that for BBB companies, the number of issues that have been in excess of 10 years is very small, relative to the whole market.  So that, in and of itself, is suggestive that the market is not terribly open to long-term debt for companies that are rated in the BBB category.

MR. KLIPPENSTEIN:  Can you explain that logic to me, how the suggestion that the number of issues in that category is small, suggesting that there is difficulty in accessing it?  It could be for various reasons.  Can you explain the logical steps in that?

MS. McSHANE:  What I was saying was that there are very few issues, or a relatively small proportion of issues in the BBB category that are over 10 years.

MR. KLIPPENSTEIN:  Can you explain the logic?  There could be various reasons for that.

MS. McSHANE:  There could be various reasons for that, but from my discussions with the people who do -- who deal in issuing debt, it is very difficult for, at times, for BBB utilities to get the market to provide debt in excess of 10 years, and the number of issues that actually are made over 10 years are supportive of the discussions that I have had.

MR. KLIPPENSTEIN:  Well, as I said, you know the number could be that number for various reasons.  If you're asking me to accept your position based on, quote-unquote discussions you've had with various people, I'm a little concerned about the vagueness of that, and me not really being able to understand what weight, if any, to give to these discussions with an unknown number of unnamed people.

Can you be more specific?

MS. McSHANE:  Well, as part of what I do, I try -- I don't raise debt myself, so I have to have some way in which to get information about what the debt market requires. 


So I can gather data, which I have done, in terms of figuring out how big the market is.  I can go to the investment policies of pension funds and determine, from them, what the limitations are on being able to maintain BBB debt in their investment portfolios, which I have done. 


MR. KLIPPENSTEIN:  You haven't produced any of that for this, have you? 


MR. PENNY:  Sorry, with respect, Mr. Klippenstein asked the question.  He got an answer.  It hardly lies in his mouth to now criticize Ms. McShane for not putting in something.  It's his question, with great respect, and he got an answer.  The fact he doesn't like the answer is neither here nor there. 


MR. KLIPPENSTEIN:  I actually like the answer, but I am sorry I interrupted.  Continue. 


MS. McSHANE:  Actually, you're right.  I did not put the information with respect to the pension funds in this proceeding.  It was asked as an IR in an earlier proceeding before this Board, and so it was provided in that context. 


But sometimes information that you glean comes from direct discussions on an ongoing basis with people who either are raising funds on behalf of their companies, so I talk to the treasurers of utilities that I work with to find out what their issues are - I don't mean debt issues - what their concerns are, what the market access problems that they might face are, on a global basis, as opposed to every time they go to the market. 


I talk to investment bankers at the major investment banks like CIBC, like TD Securities, BMO, RBC, just to keep track of what is going on in terms of the debt market with particular interest in what the developments are, the evolution in the BBB market in Canada.  And the general consensus is it's still a very small market, which for a company that needs to -- or may need to raise significant amounts of capital, indicates potential lack of market access when they need it.


So if you look at the high cost of raising BBB debt, particularly today, the potential for lack of market access, I don't see that it makes any sense, from a utility's perspective, to take the risk and be a BBB company, when it is cost-effective to be an A-rated company. 


MR. KLIPPENSTEIN:  Can you give me a specific example, from all of the discussions and everything you've mentioned, specific example - you can disguise the facts - a specific, real-world, fairly recent example of a BBB company with equity of 50 percent or lower that has -- that wanted to raise funds and couldn't?


MS. McSHANE:  I have not gone and sat with these utilities that have BBB ratings to know what issues they might have had. 


What I have are costs and how much more it would cost them to raise debt than it would an A-rated company.  I can tell you that.  And that, in and of itself, is a good reason to say, I can save money for my ratepayers if I'm an A-rated company, not a BBB company. 


MR. KLIPPENSTEIN:  You talked -- okay.  So I don't hear you giving me an example in the way I asked.  


You did mention a cost, and a few minutes ago you gave one example.  Can you give me any other examples other than that one? 


MS. McSHANE:  Which example are we speaking of? 


MR. KLIPPENSTEIN:  Well, you referred to EPCOR, I think. 


MS. McSHANE:  The cost for EPCOR? 


MR. KLIPPENSTEIN:  You gave us that example.  Can you give me any others? 


MS. McSHANE:  Well, I thought I had given you the cost of debt for TransAlta. 


MR. KLIPPENSTEIN:  I'm sorry, for? 


MS. McSHANE:  TransAlta. 


MR. KLIPPENSTEIN:  Um...


MS. McSHANE:  Which for long-term 30-year debt the indicated spread recently was well over 300 basis points. 


MR. KLIPPENSTEIN:  So that is two examples.  Can you give me any more?  


MS. McSHANE:  Part of the problem is there aren't that many.  Most of the utilities in Canada are rated A.  So, I mean, that really is the standard, but the table that you put in front of me shows -- the one in behind tab -- sorry, tab 4, that there is a difference between, you know, what it costs to raise money as an A-rated company and what it costs to raise money as a split-rated company, which means you have one rating in the A category, and then, of course, there is an even higher cost, which TransAlta is the one example of, if you've got both ratings in the BBB category. 


MR. KLIPPENSTEIN:  If I could ask a different but related question.  If you could turn to tab 16, which is excerpts from your evidence, to page 80 of your evidence, which is page 35 of the document book.


I have highlighted the sentence from your evidence, which says:

"The public market for BBB-rated debt remains more limited in Canada than in the US."


Would you agree with me that Canadian utilities and entities do issue debt in the US, such as Hydro Quebec? 


MS. McSHANE:  Yes, with a government guarantee. 


MR. KLIPPENSTEIN:  Do you know any reason why OPG could not issue US debt? 


MS. McSHANE:  Why they could not raise US debt?  I guess I would ask the question:  Why would they want to?   Their business is essentially in Canada.  Hydro Quebec, I mean, sells power in the US.  I mean, they have a huge US market, so, I mean, it's a totally different operation.  


They can essentially hedge their US -- issue debt with US dollar sales.  It's costly for a Canadian company to issue in the US.  You have to maintain -- you have to do US GAAP financial statements.  You have to comply with Sarbanes-Oxley.  There are just a lot of costs to do for hedging costs, so that there is no reason to consider the US market as the alternative to the domestic Canadian market. 


MR. KLIPPENSTEIN:  You have mentioned a number of things in your answer, and let me focus on the costs.


So you say the cost is one reason why OPG might not want to issue debt in the US? 


MS. McSHANE:  The actual out-of-pocket costs of complying -- to set up whatever it takes to issue in the US, to comply with all of the regulatory -- not constraints, but their regulatory standards that have to be complied with.  You have to file reports.  You have to do GAAP financial statements. 


You would probably want to hedge the debt once you had issued it, so there are hedging costs, foreign exchange hedging costs.  There is no good reason for -- at least at this point, for OPG to consider the US market as an alternative to the Canadian market just so it could stay BBB, which seems to be what the -- what the implication would be. 


MR. KLIPPENSTEIN:  All right.  If I could ask you to turn to tab -- 


MR. KAISER:  Mr. Klippenstein, would this be a convenient time to take the afternoon break? 


MR. KLIPPENSTEIN:  This would be fine. 


MR. KAISER:  Twenty minutes. 


--- Recess taken at 3:15 p.m. 


--- Upon resuming at 3:42 p.m.


MR. KAISER:  Please be seated.

Gentlemen, we need to stop at five today.  This reporter who has kindly come back to work today was here until eleven o'clock last night, so --

MR. RUPERT:  As was Ms. Chaplin.

MR. KAISER:  As was Ms. Chaplin, but she of course agreed to stay for however long it took.

MR. PENNY:  Bonus pay all around, I say.

MS. CHAPLIN:  From your lips to Howard's ears.

MR. KLIPPENSTEIN:  Ms. McShane, I wonder if you could turn in the Pollution Probe document book to tab 17, page 224 of Doctors Kryzanowski and Roberts' evidence, which is page 59 of the document book.

That page has a schedule 6.4, which is a comparison of witnesses' rate-of-return evidence against selected adjustment formulas.

I take it you are recommending a market risk premium for OPG of 550 basis points for both 2008 and 2009, as shown in the right-hand column of this table.  Is that right?

MS. McSHANE:  That would be the increment over the risk-free rate.  I guess you could view it as a risk premium, but it's made up of the results of various tests, only one of which is an equity risk premium test.

MR. KLIPPENSTEIN:  Okay.  Would you agree with me that the Alberta Utilities Commission formula produced a risk premium of 429 basis point for 2007, as shown on that page, the right-hand column halfway down?

MS. McSHANE:  Yes.

MR. KLIPPENSTEIN:  Similarly, the National Energy Board formula produced a risk premium of 424 basis points for the same year, that's 2007, as shown.  Is that right?

MS. McSHANE:  Yes.

MR. KLIPPENSTEIN:  And the average risk premium for the boards for 2007 and 2008 and 2009 is 431 basis points.  Can you agree with that?

MS. McSHANE:  Sorry, this is the average for just those two boards?

MR. KLIPPENSTEIN:  For those two boards for those three years.

MS. McSHANE:  Yes.  I will take that, subject to check.  I don't have any reason to disagree with it.


MR. KLIPPENSTEIN:  So that your recommendation is substantially higher than any of the benchmarks drawn from these board formulas.  Is that fair?

MS. McSHANE:  Yes.

MR. KLIPPENSTEIN:  If you could turn to page -- sorry, to tab 16 of this document book, on page 95 and 96 of your evidence, which is pages 43 and 44 of the document book.

At the bottom of the second paragraph, I have underlined the sentence which says:

"The quantification of the common equity ratio range was based on the application of two capital structure theories."

And then you go on to describe these two theories.  Can you tell me what is the source for these theories?  Do they have names that are commonly used by financial experts?

MS. McSHANE:  They're both based on Modigliani-Miller, who were Nobel Prize winners in capital structure theory.

MR. KLIPPENSTEIN:  And is it right to say theory 1 is Modigliani-Miller without taxes, and theory 2 is Modigliani-Miller with taxes?  Is that fair?

MS. McSHANE:  Sorry, theory 1 -- I have to look at this again.

MR. KLIPPENSTEIN:  I was just wondering whether theory 1 is the Modigliani-Miller theory without taxes.  And theory 2 is Modigliani-Miller with taxes.

MS. McSHANE:  No.  They both have taxes in them.

MR. KLIPPENSTEIN:  Okay.  Can tell me the difference between those two, in a few words.


MS. McSHANE:  In how many words?  Three?

MR. KLIPPENSTEIN:  A few words.

MS. McSHANE:  Oh, a few.

MR. KLIPPENSTEIN:  Approximately three words.

MS. McSHANE:  Well, the first theory basically says that there is two types of taxes, corporate and personal, and because of the interaction between the two, that essentially, the cost of capital doesn't change when the capital structure changes, but the pieces do.

The second one is the theory with just corporate taxes, and it assumes that the cost of capital goes down as additional debt is added to the capital structure, due to the interest deductibility in value of corporate income taxes.

MR. KLIPPENSTEIN:  So is one with corporate taxes and one without?  Or one --

MS. McSHANE:  Both have corporate taxes.  The first one also would implicitly have personal income taxes in it.

MR. KLIPPENSTEIN:  Theory 1 has personal taxes and theory 2 doesn't?

MS. McSHANE:  Right.

MR. KLIPPENSTEIN:  Okay.  Can you tell me when these theories were developed? 

MS. McSHANE:  The '50s, the 1950s.

MR. KLIPPENSTEIN:  Okay.  And are there other theories of capital structure that have been developed more recently?

MS. McSHANE:  There are other theories of capital structure, and none of them really lend themselves to any type of quantification.  The pecking theory, the agency theory, but the Modigliani-Miller approaches are still widely regarded as ways to measure quantitatively changes in cost of equity for changes in capital structure.

MR. KLIPPENSTEIN:  Market timing theory, as well, another candidate?

MS. McSHANE:  Yes, there are different theories of capital structure.  But if maybe I could just interject, that before we go through all of these theories, none of these other theories lend themselves to doing what I am trying to do, and that is to determine what the relationship is between equity return and capital structure.

What the theories are, that you're mentioning, try to explain how a company might set its capital structure, but -- and what drives them to choose one versus the other.  But it doesn't help at all in, then, determining -- once you have that capital structure -- what the implication is as far as your cost of equity.

So I would agree with you, there are other theories, but for this purpose they're not particularly helpful.

MR. KLIPPENSTEIN:  I heard you mention about quantitative factors.  You prefer this because it is quantitative?

MS. McSHANE:  One has to come up with some way to determine what the relationship is between the capital structure and the equity return.

So it is not just that I prefer them because they're quantitative.  They make sense.  They're well regarded theories and, in the context I'm using them, they're useful.

MR. KLIPPENSTEIN:  And if you could turn to tab 17, which is Doctors Kryzanowski and Roberts' evidence, at page 26 of their evidence, which is page 47 of the document book, there is a quote from the generic decision of the Alberta Utilities Commission, 2004-052 at page 35 of the decision and I would just like to read the few sentences in the paragraph in the middle. 
"In the Board's view, setting an appropriate equity ratio is a subjective exercise that involves the assessment of several factors and the observation of past experience.  The assessment of the level of business risk of the utilities is also a subjective concept.  Consequently the Board considers that there is no single accepted mathematical way to make a determination of equity ratio based on a given level of business risk."

Would you agree with me that the quantitative analysis approach that you have used is not entirely consistent with this view of that board?


MS. McSHANE:  I wouldn't disagree with the board that there's some subjectivity to it and some -- clearly, the assessment of the level of business risk is somewhat subjective and there are, as a result -- for example, what the Alberta board was trying to do was it was trying to set equity ratios for companies in a variety of industries.  


Well, they're all utility industries, but ranging from electric transmission to relatively high-risk natural gas pipelines.


And so a part -- part of the task was to try to assess how different in risk these various companies were so that they could then set a capital structure for each of them.


So, clearly, there is some subjectivity there.  I mean, it's subjectivity constrained by the facts of the situation.  I don't know any way you can get around that part.  But saying that that decision is subjective is not inconsistent with then being able to do some kind of quantitative analysis to determine what the relationship between the equity return in the capital structure is.


MR. KLIPPENSTEIN:  Okay.  Could you turn, please, to tab 16 page 95 of your evidence, which is page 43 of the document book?  In the bottom paragraph, which we glanced at before, you identified the two theories, theory 1 and theory 2.  Then after you summarize the theories, you state, about the middle of the paragraph:

"The actual impact on the cost of capital most likely lies in between the results of the two theories."


Does this in-between result have a name that is commonly used by financial experts?


MS. McSHANE:  No.  It's the application of both theories and looking at -- giving them both equal weight.


MR. KLIPPENSTEIN:  Does the term trade-off theory, in that context, mean anything to you?


MS. McSHANE:  Well, trade-off theory?  No, unless what you mean by trade-off is that obviously there's a trade-off between the additional costs that are faced as you increase the debt leverage.


So there are potential costs of financial distress and bankruptcy that would limit the amount of debt that you would take on, and at some point theoretically there might be an optimal capital structure at which there is an exact trade-off between the increase in value from increasing the debt ratio and the increase in financial distress, financial flexibility costs.


MR. KLIPPENSTEIN:  If you could turn to page 89 of your evidence, which is still at tab 16, page 37 of the document book.


At the bottom of that page, your paragraph begins, "With respect to US companies".  Do you see that?


MS. McSHANE:  Yes.


MR. KLIPPENSTEIN:  Then on the next page there is a table.


MS. McSHANE:  Yes.


MR. KLIPPENSTEIN:  Does the table consist of US companies?


MS. McSHANE:  Yes.


MR. KLIPPENSTEIN:  I would like to ask some questions about the use of US data in this context.


Do you agree that the appropriate capital structure for a utility depends importantly on its business risk?


MS. McSHANE:  Yes.


MR. KLIPPENSTEIN:  And would you agree with me that this means that if US utilities are to be a good source for comparison for Canadian utilities, that the business risks should be similar?


MS. McSHANE:  Yes.


MR. KLIPPENSTEIN:  And would you agree with me that regulatory lag is a source of business risk?


MS. McSHANE:  Yes.


MR. KLIPPENSTEIN:  Can you tell me something about regulatory lag in Canada?  For example, would you agree with me that in Alberta, electric utilities are required to file rate cases annually; is that fair?


MS. McSHANE:  No.


MR. KLIPPENSTEIN:  Just in comparison, would you agree with me that many US utilities have regulatory lags with rate increases occurring every three or five years, or even longer?


MS. McSHANE:  Can we just back up a second to Alberta?


MR. KLIPPENSTEIN:  Sure, yes.


MS. McSHANE:  Alberta utilities don't have to file rate cases every year.


MR. KLIPPENSTEIN:  Electric utilities?


MS. McSHANE:  No, I don't think so.  Maybe every two  -- like, they use two-year test periods, but not every year.  On the regulatory lag question --


MR. KLIPPENSTEIN:  Yes.


MS. McSHANE:  -- regulatory lag is a choice.  When we say that US utilities don't go in for rate cases every three to five years, that doesn't mean they can't.


Presumably they haven't gone in for rate cases because they don't need to, and, in some sense, that's a benefit to them.  If they don't need to go before the regulator, that puts them, to some extent, in a superior position to utilities who do.


MR. KLIPPENSTEIN:  And have you looked at the issue of regulatory lag, and I will talk about -- I will define that term for purposes of this question as long periods between rate cases, and you've raised the issue of whether that is good or bad.


But have you looked at the comparison between US utilities and Canadian utilities in terms of regulatory lag or differences between filings and cases?


MS. McSHANE:  Well, I know what the differences are, but I guess what -- what I would be looking at would be what effect not going in for rate cases every two years might have.


Clearly, if you look at this table on this page, that this whole group of -- these electric utilities have earned returns of about 11 percent, which is about what you would expect, given their cost of equity.


If there were truly a significant problem with regulatory lag, I would expect their returns to be materially lower than this.


MR. KLIPPENSTEIN:  Okay.  Let me ask about variance and deferral accounts.  Would you agree that properly designed variance and deferral accounts reduce the business risk faced by utilities?


MS. McSHANE:  Yes, they certainly mitigate the short-term risk.


MR. KLIPPENSTEIN:  Would you agree that the deferral and variance accounts requested by OPG in this hearing are designed in a proper fashion with respect to reducing business risk?


MS. McSHANE:  I don't have any reason to believe they're not properly designed for the purpose they're intended for.


MR. KLIPPENSTEIN:  And would you agree with me that Canadian utilities may consider greater use of deferral and variance accounts than do US utilities?


MS. McSHANE:  They make more use of them, yes.  I think I said that in an IR response, an interrogatory response.  They have deferral accounts on the major cost categories on both the gas and electric side.

Virtually all utilities in the US have purchase gas adjustment clauses.  They make up a huge proportion of the total costs.  And electric utilities have fuel adjustment,  automatic fuel-adjustment clauses.

I'd say when I look, for example, when I do a sample of gas utilities in a gas utility proceeding in the US, I'd say 90 percent of the companies that are pure play gas utilities have weather normalization or revenue decoupling mechanisms, so those are deferral accounts.

There are a number of utilities who have pass-through accounts for infrastructure investments.

So I would say generally, Canadian utilities have used more deferral accounts, but US utilities generally have deferral accounts on the big-cost ticket items.

MR. KLIPPENSTEIN:  What does that mean?

MS. McSHANE:  The gas costs, the fuel costs.

MR. KLIPPENSTEIN:  But so do we, right?

MS. McSHANE:  Yes, but your question was do US companies have less.

MR. KLIPPENSTEIN:  But these examples, I take it, don't change your previous answer, that in fact, Canadian utilities make greater use of deferral and variance accounts.  Is that right?

MS. McSHANE:  They do.

MR. KLIPPENSTEIN:  Yes.  And since deferral and variance accounts reduce the business risk, and if Canadian utilities use them more, that would tend to lower the risk as between Canadian and US utilities.  Is that fair?

MS. McSHANE:  All other things being equal, that's probably true.  So when you use a sample of US companies, you need to make sure what you're using is comparable.

MR. KLIPPENSTEIN:  Using the general principle that we just discussed, and taking it one logical step further, that risk difference would suggest that equity ratios and allowed returns should be lower in Canada than in the US for utilities, all things being equal.  Is that right?

MS. McSHANE:  Not both.

MR. KLIPPENSTEIN:  Would you agree with me that that general principle about use of deferral and variance accounts and their effect on risk, suggests that -- 

MS. McSHANE:  Oh, I guess what I was perhaps too quickly saying is that if you've got companies that have higher business risk, then you could offset that by a higher common equity ratio, but you wouldn't necessarily have both higher common equity ratios and higher ROEs.

MR. KLIPPENSTEIN:  But individually, in other words, looking at equity ratios and lower risk from an increased use of these accounts, would suggest that equity ratios should be lower, all other things being equal.  Is that right?

MS. McSHANE:  Well, I think one of the things we have to realize is that the US regulatory approach is different, in that there is not the emphasis on deemed capital structures that there is in Canada.

So a utility might have a -- a US utility might have, let's say, a 45 percent common equity ratio, but allowed return of 11 percent or 11-1/2 percent.

So I think we have to be careful about saying it should have, a Canadian company should have a lower equity ratio.

I think you have to look at both pieces, the equity ratio and the equity return, if you're using US utilities for comparability purposes.

MR. KLIPPENSTEIN:  I think that's why economists invented this term "ceteris paribus" thousands of years ago.  Just so I understand, I think we agree, can we not, that Canadian utilities use more of these accounts, and these accounts reduce business risk and, therefore, all other things being equal, Canadian utilities would tend to have less business risk. and all other things being equal, that would suggest lower equity ratio.

Right?  Just to get the principle here.  Have I made any egregious mistake?

MS. McSHANE:  Well, I'm not trying to be difficult.  I just -- I agree, I agree with you that if we were putting that whole thing within a Canadian regulatory context, that that would hold.

Within a US context, because of not using hypothetical capital structures, I would say if you had Canadian utilities with lower risk, then all other things being equal, you would have a lower common equity ratio and/or ROE, rather than just focussing on the common equity ratio.

MR. KLIPPENSTEIN:  I tried to isolate things, so we could understand what's real here and what's not.

So let's just respect that part of the question.

Would you agree with me that since you've accepted that Canadian utilities use these deferral and variance accounts more, and since these accounts reduce business risk, that therefore, all other things being equal, Canadian utilities would have lower business risk, right?  That seems to necessarily follow, right?  You have to agree to that, right?

MS. McSHANE:  Yes.  If I take the whole universe of Canadian utilities and the whole universe of US utilities, I would say Canadian utilities as a whole have lower business risk than Canadian (sic) utilities, and part of that is because of deferral accounts.

MR. KLIPPENSTEIN:  Right.  And then again, let's see if we can answer this "yes" or "no".  All other things being equal, the lower risk, all other things being equal, focussing just on equity ratios, would suggest lower equity ratios for Canadian utilities, right?  You can answer that with yes or no, and I think the answer has to be yes; right?

MS. McSHANE:  Well, I can't answer it yes or no.  I have tried to answer it within my understanding of how capital structures are set in the US, and I don't think it is a yes or no question.

MR. KLIPPENSTEIN:  In your comparisons that you make on page 89 and 90 of your evidence, and table 8, did you, in fact, take into consideration, at all, the factor of deferral and variance accounts?

MS. McSHANE:  Yes.

MR. KLIPPENSTEIN:  Did you specifically think about deferral and variance accounts?

MS. McSHANE:  I think about the various risks that Canadian utilities, OPG, would face and in comparison to US utilities.


MR. KLIPPENSTEIN:  Yes.  My question is:  Did you specifically, in your mind, think about deferral and variance accounts and how they might affect the comparison between Canadian and US utilities when you prepared table 8?


MS. McSHANE:  Yes.


MR. KLIPPENSTEIN:  Does that factor appear in your evidence at all?


MS. McSHANE:  Well, I certainly discussed the deferral and variance accounts when I evaluated the risk of OPG.


MR. KLIPPENSTEIN:  But you are using a number of US companies in a table here.  As far as I can see, you nowhere comment on the difference between US and Canadian utilities, in terms of these accounts.


MS. McSHANE:  No, there is no specific reference to it in the testimony.


MR. KLIPPENSTEIN:  Okay.  If you could turn to tab 9, please?  This is Pollution Probe Interrogatory No. 9.  Interrogatory part C says:   

"How do the returns achieved in part B compare to the returns that these investors achieved from holding the market index in Canada?"


Part B referred to traded utility entities.


In your answer, sub C, you state:  

"Over the long term, the returns from the traded utilities have been higher."


Would you agree that the expectation of investors would be to earn a lower rate of return on their shareholdings in the traded utility entities in Canada relative to what they could earn from holding the Canadian market index?


MS. McSHANE:  That's probably true.


MR. KLIPPENSTEIN:  If you could turn to tab 10, please, which is Pollution Probe Interrogatory No. 14?


Pollution Probe asked: 

"In using the historic average risk premiums for the US and UK presented on this page, (b) what adjustment did Ms. McShane make for the foreign exchange risk premium that the Canada investors would require for investing in either of these two foreign markets?"


And your answer, sub B, is that you did not make any adjustment for foreign exchange risk.  You say that foreign exchange risk can be diversified or hedged.


Can you explain how the Canadian Institute of Actuaries made adjustments for the incremental costs, including foreign exchange risk, associated with the investment by Canadians in US stocks for that 1947 to 2006 period?


MS. McSHANE:  Sorry, could you repeat that question?


MR. KLIPPENSTEIN:  Sure.  Could you explain how the Canadian Institute of Actuaries made adjustments for the incremental costs, including foreign exchange risk, associated with the investment by Canadians in US stocks over the 1947 to 2006 period?


MS. McSHANE:  I am not aware that they did.


MR. KLIPPENSTEIN:  Okay.  Would you explain how a Canadian investor could diversify the US dollar risk exposure during the early part of the 1947 to 2006 period, such as the first five years?


MS. McSHANE:  They couldn't have during that period of time.


MR. KLIPPENSTEIN:  Would you explain what annual costs a Canadian investor would have incurred to hedge the US dollar risk exposure during the first five years of the 1947 to 2006 period?


MS. McSHANE:  What costs they would have incurred?


MR. KLIPPENSTEIN:  Yes.


MS. McSHANE:  I don't know.  I don't think there was much of that going on at the time.  First of all, in that period of time when the dollar was -- the dollar was fixed, there were extreme restrictions on foreign exchange transactions.


MR. KLIPPENSTEIN:  If you could turn to tab 11, Pollution Probe Interrogatory No. 19?


And that question asked whether you could confirm that the underlying logic behind the adjusted beta method is that the beta is assumed to revert to a hypothesized true value of one over time.  


Secondly, I asked if you could provide all evidence and materials of which you are aware that there is mean reversion in the betas of Canadian stocks.


In your answer, you confirm that, and stated, to your knowledge, there is no empirical evidence of mean reversion in the betas of Canadian stocks.


Would you please identify the major commercial suppliers of adjusted betas who justify making beta adjustments in order to capture interest sensitivity?


MS. McSHANE:  I am not aware of any.


MR. KLIPPENSTEIN:  Thank you.


If you could turn to tab 12, please, which is an interrogatory from Pollution Probe, number 26, which talks about business cycles?


You referred to, in your response, the period 1994 to 2006.  Now, these questions relating to the business cycle -- and you say that the business cycle is traditionally measured from trough to trough.  However, it appears that you did not include in your period the last official recession in Canada, which was -- which included 1991 and 1992.


So why didn't you start your estimation period in '91 and '92?


MS. McSHANE:  Because what I was trying to do was to capture a period that, while it might not be an official business cycle, includes both years of relatively strong growth, relatively weak growth, but has the characteristics of what we would expect going forward for economic conditions, and the period, the last cycle trough, doesn't meet that -- those criteria.


MR. KLIPPENSTEIN:  Could you turn to tab 13, please, which is Pollution Probe Interrogatory No. 28 at page 22 of the document book?


You were asked how the discussion in your appendix B relates to the residual income model of stock valuation, and you note that, in your answer, the second sentence:

"The comparable test results include total earnings, including economic profits in excess of the cost of capital, that low risk comparable unregulated companies are able to earn, but not on a discounted basis."


Can you tell me how you removed that category referred to as "economic profits in excess of the cost of capital?" 

MS. McSHANE:  I didn't.

MR. KLIPPENSTEIN:  You didn't, okay.  Why didn't you?

MS. McSHANE:  Because what I was trying to capture is the actual returns of these companies, which is what the comparable return standard does.

MR. KLIPPENSTEIN:  Well, would you agree with me that the residual income valuation model stipulates that the price of a stock, minus its book value, is equal to the discounted value of the stream of returns in excess of the cost of capital?

MS. McSHANE:  I will accept that.

MR. KLIPPENSTEIN:  Okay.  If you could turn to tab 14, please, the question asked:

"A number of studies argue that the growth of publicly traded firms is less than the growth in GDP.  Assuming that this is the case, please explain why the growth rates of higher dividend paying firms such as the utilities are expected to be higher than those of lower divided paying firms."

In your answer, you said:

"They are not.  The average expected long-term growth rate in earnings for the S&P 500 companies, which have an average dividend yield of approximately 2 percent, for example, as per the most recent IBES forecasts is 12.5 percent."

Can you tell me how it is reasonable to assume that the earnings of S&P 500 companies can grow long-term at a much faster rate than the GDP of the overall economy?

MS. McSHANE:  They probably can't over the long-term.  But there are different rates of growth that investors expect at different points in time.

The S&P 500 companies tend to be higher-growth than the mature company like a utility, so the expected growth in the near- to medium-term is going to be significantly higher than the growth in the economy.

MR. KLIPPENSTEIN:  Can you give me some sense of what you mean by "near- and medium-term"?  Do you mean four or five years?

MS. McSHANE:  Ten years.

MR. KLIPPENSTEIN:  Ten years.  But in terms of the use of long-term earnings forecasts in DCF models, isn't the long-term defined to mean forever?

MS. McSHANE:  Long-term means forever, but it doesn't mean tomorrow.  So, I mean if you have a stock market that has a dividend yield of 2 percent, which is about what the dividend yield is at the moment, and the growth in the long-term for the companies that make up that index might be 5 percent, it doesn't mean that when investors are pricing those stocks today that they expect 5 percent starting tomorrow.

I mean they might expect 12 percent for five or 10 years and 7 percent, and going down to, ultimately, 4-1/2 to 5 percent and maybe, after that, as companies enter the last stage of their life, below the growth in the economy.

MR. KLIPPENSTEIN:  If you could turn, please, to tab 17, which is the evidence of Doctors Kryzanowski and Roberts, and in the -- beginning in the middle of the first paragraph --- 

MS. McSHANE:  Sorry, what page?

MR. KLIPPENSTEIN:  This is page 114 of their evidence, which is page 53 of the document book.

MS. McSHANE:  Thank you.

MR. KLIPPENSTEIN:  The first paragraph under the heading "MERP estimation problems", at the end of the paragraph, they say:

"The MERP that Ms. McShane estimates for Canada for the 1947 to 2006 period is materially impacted by the first four years of this period.  To illustrate, the annual average over the first four years, 1947 to 1950, are 7.69 percent for the Consumer Price Index, 1.38 percent for long Canada bonds, 0.46 percent for 91-day Canadian Treasury bills and 20.88 percent for the equity market index.  The result is an annual average MERP over this four-year period of 19.50 percent."

And can you tell me why your estimated MERP does not suffer from severe selection bias, by your choice of 1947 as the starting year for your sample?

MS. McSHANE:  Well, I explained in the testimony why I picked the period that I did, and I explained it in an interrogatory response, that there was the post-World War II era, basically right after the war, I mean there was a basic change in the economy, moving from an agrarian economy to industrialized economy, the discovery of oil in western Canada.  So the market, the economy was transformed in a relatively short period of time.  So that's why I don't use the pre-World War II period.

When you asked me why, then, I don't cut off the next five years, I would say to you, for the same reason that I don't cut out various periods in between.  For example, 1974 to 1980, we had very high rates of inflation.  Then we had two very, very deep recessions -- in the 1981-82 recession.  We had the 1991-92 deep recession, which extended for a number of years while the economy adapted to NAFTA.

We had a secular decline in the rate of inflation, starting in the early '90s.  We had a huge market bubble in the -- when was it?  I haven't recovered from it yet, but in 2000, when the market burst.

So you can then start taking that period apart and saying:  Well, let's pull out all of these other years.

Interestingly, I was reading the Ibbotson book the other day on equity risk premium, and they made note of how significant, at least in the US data -- and I think it is true in the Canadian data as well -- how significant two years within that period of time are on the measured risk premium, 1973 and '74 when the oil embargo occurred.

And just removing those two years from the US market return data make a huge difference in the data covering from 1926 to 2007, but nobody is suggesting we should take those out.

So that's my answer.

MR. KLIPPENSTEIN:  Okay, thank you.  If you could turn to page 126 of Doctors Kryzanowski and Roberts' evidence, which is page 56 of the document book, you have argued in your evidence that the capital asset pricing model is not supported empirically.  Is that fair? 

MS. McSHANE:  Sorry, did you ask me a question?


MR. KLIPPENSTEIN:  Yes.  You argued in your evidence that the capital asset pricing model is not supported empirically; is that fair?


MS. McSHANE:  Well, there are a number of studies that suggest that the relationship between return and beta is not what the CAPM posits.


MR. KLIPPENSTEIN:  On page 126, the authors refer to an article by Drs. Ang, Hodrick, Xing and Zhang from the Journal of Finance in 2006.


Are you familiar with that article?


MS. McSHANE:  No.


MR. KLIPPENSTEIN:  In tab 16, which is your evidence, page 48 of your evidence, which is page 50 in the document book.


MS. McSHANE:  Page 48 of the document?


MR. KLIPPENSTEIN:  I think it is page 48 of your evidence.


MS. McSHANE:  Oh, sorry.  Yes.


MR. KLIPPENSTEIN:  Let me just check if that is right.


I'm just double-checking the page, apologies.


This, I believe, refers to your sampling of 20 Canadian industrials to use the comparable earnings test; is that right?


MS. McSHANE:  Yes.


MR. KLIPPENSTEIN:  Can you tell me what tests, if any, you used to ensure that your sample of 20 industrials did not earn abnormal returns or free lunches over the estimation period?


MS. McSHANE:  I looked at the sample as a whole, and at the average market-to-book ratio of the sample compared to the market-to-book ratio of the market.


MR. KLIPPENSTEIN:  Are you familiar with the commonly used Jensen and Sharpe measures of portfolio performance?


MS. McSHANE:  Yes.


MR. KLIPPENSTEIN:  Did you use those?


MS. McSHANE:  No, because those are market return measures.  These are book returns.


MR. KLIPPENSTEIN:  I'm sorry?


MS. McSHANE:  No, I didn't.  The Jensen and Sharpe measures are for market returns.


MR. KLIPPENSTEIN:  Would you agree that Drs. Kryzanowski and Roberts found a significant abnormal return associated with your samples when they applied these tests?


MS. McSHANE:  I don't recall.


MR. KLIPPENSTEIN:  So if they did find significant abnormal returns on your samples, you don't have any comment on that?


MS. McSHANE:  I can't say that I really studied that in their testimony, so I don't know whether their analysis is correct, or not.


MR. KLIPPENSTEIN:  If could turn in tab 17, which is Drs. Kryzanowski and Roberts' evidence, to page 124 and the top of page 125, which is page 54 and 55 of the document book?


Near the bottom, they say:

"Based on a survey of a large sample of large US corporations, Graham and Harvey, 2001 and 2002, find that the capital asset pricing model was by far the most popular method of estimating the cost of equity capital.  73.5 percent of respondents always or almost always used it.  The second and third most popular methods were average stock returns and a multi-factor CAPM, respectively.  Few firms used a dividend discount model to back out the cost of equity."


Do you have any reason to disagree with the summary of the results of this survey?


MS. McSHANE:  No.  I would have some comments on the flexibility that these firms that use it have to sort of play with the sensitivity of the results.


I mean, if you -- let's say that you think that the CAPM produces a cost of equity between 8 percent and 12 percent.  I mean, that's -- you know, that's a fairly wide range, could be as wide as the range of returns that come out of various experts' estimates of the capital asset pricing model results.  But these firms are using this to evaluate projects.


So it is not like this is the return they're going to earn, so they can take the cash flows, discount them at 8 percent.  Well, that number might be right.  It might be 12.  Let's discount it at 12 percent and see if that still gives me a positive NPV.


So, yes, they may use them, but they have a lot more flexibility to play with the results than a utility who is going to be allowed whatever return a regulator says is appropriate.


MR. KLIPPENSTEIN:  In this survey, none of the firms reported using the comparable earnings method to obtain the cost of equity?


MS. McSHANE:  No, and they wouldn't.  I explained why the comparable earnings test is only relevant to regulated companies.  It's only relevant in a specific comparable return context.  It's not a market-based cost of equity model like the equity risk premium test or the discounted cash flow test.


MR. KLIPPENSTEIN:  Do you know if OPG uses the comparable earnings method in estimating its cost of equity for the evaluation of capital investments for either its regulated or non-regulated activities?


MS. McSHANE:  I would say no.


MR. KLIPPENSTEIN:  Can you identify a Canadian utility that uses the comparable earnings method in estimating its cost of equity for the evaluation of capital investments for either its regulated or non-regulated activities?


MS. McSHANE:  No, for the same reason.


MR. KLIPPENSTEIN:  If you could turn to tab 15, please.


CCC and VECC's Interrogatory No. 15, sub F of the interrogatory asks for your estimate of the realized excess return of Canadian equities over bonds for the period 1947 to 1956.


And your response on the next page in F states:

"The differential between stock and bond returns was 17.5 percent arithmetic average for the entire period 1924 to 2006 for which data are available for stock and bond returns.  The average return on stocks was 11.9 percent, the average return on bonds was 6.5 percent, for an achieved risk premium in Canada of 5.4 percent.  The average experienced return on bonds at approximately 6.5 percent is considerably higher than the current and expected yield, and thus overstates a reasonable estimate of the expected risk-free rate."


Would you confirm that the average annual risk premium achieved in Canada of 5.4 percent over the 1924 to 2006 period is based on the arithmetic means for stocks and bonds?


MS. McSHANE:  Yes.


MR. KLIPPENSTEIN:  And if the current and expected yield on 30-year Canadas represents a geometric or arithmetic average annual return over the life of the Canadas, can you tell me which of those two it is, geometric or arithmetic?

MS. McSHANE:  The yield?

MR. KLIPPENSTEIN:  Yes.

MS. McSHANE:  I guess it is fundamentally a geometric return.

MR. KLIPPENSTEIN:  Are you not, then, comparing an annual arithmetic average to an annual geometric average?

MS. McSHANE:  Yes, I guess in principle you are.  What I am trying to do is to isolate the risk-free part of the rate, rather than include capital gains and losses that, on bonds, that, for purposes of the future, can't really be anticipated.

The arithmetic average on the returns for the market does capture the actual risk, the variability of the returns and that is the appropriate measure.

I don't know what other measure of risk-free rate you could use in conjunction with the arithmetic average of equity market returns, other than the anticipated yield.

MR. KLIPPENSTEIN:  Thank you.  I think those are all of my questions.  Thank you, Ms. McShane.

Thank you, Mr. Chair.

MR. KAISER:  Thank you.  Who is next?

MR. WARREN:  I am, sir. 

MR. KAISER:  Do you want to start now or in the morning?

MR. WARREN:  Do you want an honest answer or political answer, sir?

[Laughter]

MR. KAISER:  I want an honest answer.

MR. WARREN:  The honest answer is, no, I don't want to start now.

MR. KAISER:  All right.  Good answer.

[Laughter]

MR. PENNY:  Honest and political are the same thing, in that sense.

MR. KAISER:  9:30 tomorrow.

---Whereupon the hearing adjourned at 4:45 p.m.
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